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General Ability

Section Id : 927759359

Section Number : 1
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Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759426

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9277598711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

UFVE, YJRA, CNNW, GRKS, KVFO
Options :

1. ®* YJRA

2. % CNNW

3. ¥ GRKS

4. ®* KVFO



Question Number : 1 Question Id : 9277598711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

UFVE, YJRA, CNNW, GRKS, KVFO
Options :

1. % YJRA

2. % CNNW

3. ¥ GRKS

4. % KVFO

Question Number : 2 Question Id : 9277598712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

SAG26, VGP29, YMY35, ?, EYQ56
Options :

1. ¥ BSH45

2. % BTH44

3. ¥ BSH44

4, ¥ CSH44

Question Number : 2 Question Id : 9277598712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

SAG26, VGP29, YMY35, ?, EYQ56
Options :

1. % BSH45

2. % BTH44




3. ¥ BSH44
4. = CSH44

Question Number : 3 Question Id : 9277598713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

NZP : GMH : : XTL : ?
Options :

1. ®* QME

2. ¥ LJF

3. ®# JLF

4. % JFL

Question Number : 3 Question Id : 9277598713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fahey O 9 rafdd 31&R &1 IH1d By

NZP : GMH : : XTL : ?
Options :

1. ¥ QME

2. ¥ LJF

3. % JLF

4. % JFL

Question Number : 4 Question Id : 9277598714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the odd word from the given alternatives.
Options :

1. # Red chilli



2. % Salt
3. % Black Pepper

4. % Cinnamon

Question Number : 4 Question Id : 9277598714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U fahey B 9 favH Sreg &1 IHE B
Options :

1. % A1 i

2. ¥ JHD

3. % Pait fird

4, % el

Question Number : 5 Question Id : 9277598715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain language, LECTURER is coded as “85329656”. How is ‘ULCER’ coded in that code?
Options :

1. % 38316

2. % 98321

3. ¥ 98356

4, % 88316

Question Number : 5 Question Id : 9277598715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe ot Ffd YT &, LECTURER ®1+85329656” Hicd fhal ST 8] ‘ULCER® &I Hicd [l SITE?
Options :

1. % 38316

2. % 98321



3. ¥ 98356
4. = 88316

Question Number : 6 Question Id : 9277598716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of fifty students, Geeta's rank is thirty-two from the left end. What is her rank from the right end?
Options :

1. % 17

2. % 18

3.4 19

4. % 20

Question Number : 6 Question Id : 9277598716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A faenfifl @t ue wen &, Hiar 31 ¥ 9 SR A T B 1 < BR A ITDI NS FT 72
Options :

1. = 17

2. % 18

3.4 19

4. % 20

Question Number : 7 Question Id : 9277598717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends Aman, Raman, Deepu, Lalit, Aditya and Shivam likes different colors i.e. Pink, Yellow, White, Green, Red and Violet, but not
necessarily in the same order. Each of them studies in a different college. i.e. A, B, C, D, E and F, but not necessarily in the same order.

Lalit likes Green but does not study in college A or E. Aditya studies in college F but does not like pink. Shivam does not study in college D or
E. Deepu likes Violet and studies in college C. Aman studies in college B and likes white. The one who like red and studies in college E.

Who likes redcolor?
Options :



1. ¥ Raman
2. % Shivam
3. # Aditya
4. % Deepu

Question Number : 7 Question Id : 9277598717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3: i 3, T, <y, @ferd, sifeed SiR FRraw &1 srerT-sret wrosie ] 1 srufd Jarelt, dia, Tthe, 8w, are SR S, aifee st gt fe
= A A B1STH T TS Udh 3IaT 31T il # Ugdl ol 31fd A, B, C, D, E 3R E, Afts SRt 781 {6 3t op w1  gf Iaferd o g1 3
UG g Afh I8 Biciel A ITE H 81 Ugdl g1 M Hiadl F H Ugdl § Afe I Tars 1 UiE 781 ¢ | RRigd Siars D a1 E § 78} ugar 3|
Y BT ST T URiE B 3R 98 PiaSl C H UgdT 8| 3 Dia B H UgdT 8 3R 3¢ Ythe 11 URiC 8| 8 cafort o @let 1 0¥ § 3R a8
HIclol E W Ugdl g

TS T ge 82

Options :

1. ¥ IHA

2. % fjay

3. % 3fffea

4. % g

Question Number : 8 Question Id : 9277598718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All gates are farm.
Some farm are not crop.

Conclusions:
(I) No gate is crop.
(IT) Some farm are gate.



Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 8 Question Id : 9277598718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & @ Hy= e 7w 8 e a1e & fAne 1 9 11 fRT U § 3iueh! 39 Y=l &) I H=H1 8, Ha 81 9 Jagnd awt 9 fie udia
gid 811 fou e feemef & § &1 a1 s 3T 78 2= &1 difches &0 ¥ SIaR0 BT ] |

DHY-:

Tt e Wd g |

RGN

fm:

(D) P13 e HId T8l g

(I $S W e B

Options :

1. # $Had [5HY [ 3IERU Hdl §

2. ¥ Had fHY 11 STIR01 BT &

3. % G fShY [ T 11 SFJAR0T % ©
4. % a1 ey 17 8 e 11 sFERu SR 8

Question Number : 9 Question Id : 9277598719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Atleast some fishes are snake.
Few snakes are crocodile.



Few crocodile are ants.

Conclusions:
(I) Some crocodile are not fish.
(IT) Few crocodile are snakes.

Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. % Neither I nor II follows

Question Number : 9 Question Id : 9277598719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead vy & @9 By fau U 8 oM 918 &1 Fshe 19 11 fAT U B SHTUsh! 39 HU1 &1 9 HIFAT 5, Hal 81 d Fasd audl 3 e edld
gid 81| fau U Frm el & 9 31 91 e U 70 o &7 difdhs ©0 § S8R0 $Ral 5 |

HY:

HH Y Y $S IS Qra g |

$T Y RIS § |

$S WRAD dieai g

fsem: _

() T& ITRAS H3fed 1g1 ¢ |

(I $S TRIADS U g |

Options :

1. % had (s [ 3ERU T §

2. ¢ I DY 11 SRV BT §

3. % G FIShY [ T 11 SFJAR0T Rl &
4. % 9 FHY 17 81 Fpy 11 3SR R 8

Question Number : 10 Question Id : 9277598720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All vehicles are ticket.
Some tickets are metro.
All metro are highway.

Conclusions:

(I) Some highway are metro.
(IT) Some ticket are vehicles.
(IIT) Some metro are highway.

Options :

1. % Only I follow
2. % Only II follows
3. % Only III follows
4. ¥ All follows

Question Number : 10 Question Id : 9277598720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & &5 Sy e 7w 8 e a1 9 fAse 111 g 111 faTu 77T § 3muep) 37 SUHl &l I AT 8, YA 8 d Jdwrd a3 fire
gl gia 8 | fu e fsesf & 9 1 a1 fAsesd 3T 7T w4+ &1 difdhes U § ORI Rl g |

DHY:

gt arg fewe B
F3 fepe ATl 5|
g Al g B

fsen:
OEEAEEREN
(I $S fedpe a1 g
(I11) 3 A2 BT84 g
Options :

1. % acl Feepy | 3THR BT 2




2. % Had (DY I1 SR Hal §
3. % PHad T5HY I11 38R BT §
4.« Tt SR A §

Question Number : 11 Question Id : 9277598721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

I11:119::15:7?
Options :
1. # 154
2.9 223
3. % 233
4. % 152

Question Number : 11 Question Id : 9277598721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freferRad U # fau 7T faehedl ® @ Trai=id A1 &1 90 B |
11:119::15:7?

Options :

1. % 154

2.9 223

3. % 233

4. % 152

Question Number : 12 Question Id : 9277598722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.



Statement:
G>A=N<K=>B

Conclusions:
I.LB>A
II. A=K

Options :

1. ® Either I or II follows

2. % Only I follows

3. # Both I and II follow

4. ¥ Neither I nor II follows

Question Number : 12 Question Id : 9277598722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Uy A, YT P YR W &l sy FpTal 91d € | Feh &7 3188 BY 3R IR & TU H g fadhed &1 797 HI |

hY-:
G>A=N<K=>B

frpy-
I.B>A
II. A=K

Options :

1. % %Had | T 11 SFIER0T el §

2. % Had | SIERV HAT §

3. % g | 3R 11 SRV 6% §
4.9 | SR TE I 3T B &

Question Number : 13 Question Id : 9277598723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.



57,61,70,7?, 111, 147
Options :

1. % 100

2. % 94

3. % 105

4. ¥ 86

Question Number : 13 Question Id : 9277598723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 uy ¥, faT TU e I i g &1 997 B

57,61,70,7?, 111, 147
Options :

1. #* 100

2. % 94

3. % 105

4. ¥ 86

Question Number : 14 Question Id : 9277598724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents defense sector, circle represents state government exams, pentagon represents railways, rectangle
represents aspirants and square represents private company.

What does letter ‘F’ represents?



Options :

1. ® Aspirants who are preparing for railways and state government exam only

2. ¥ Aspirants who are preparing for defense sector and state government exams only

3. #® Aspirants who are preparing for private company and state government exams only
4. ® Aspirants who are preparing for state government exams only

Question Number : 14 Question Id : 9277598724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad g &, Byt xem & &1 ufafifia &l g, 30 I IWBR TRIe BT Ui Bl §, T Iu Xad &1 UfdfAfia SRl g,
3Tad IrfieaR) &1 ufafRfia wxar g 3R avf fAsh duit &1 ufafafia Hrar gl

&R p fhgeT ufaffia g2




Options :

1. % IRCaR S Bad YAd 3R I WBHR TRIT BT dUR} B I3 §

2. ¢ IIGAR S Had & & 3R oY IRBR P Y& B IR} R Q&

3. % ITCaR S Had ol ST 3R AT WBHR P T3 Bt IR B I8 &
4. % IETIR T HId AT WBR Bt T3 Ht IR BB 8

Question Number : 15 Question Id : 9277598725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents professor, circle represents architect, hexagon represents advocate, rectangle represents entertainer and
square represents entrepreneur.

What does letter ‘A’ represents?



Options :

1. # Group of professors, architect, advocate and entertainer but not entrepreneur
2. % Group of advocate, entrepreneur, professors and entertainer but not architect
3. ¥ Group of entrepreneur, architect, advocate and entertainer but not professors

4. ® Group of entrepreneur, architect, professors and entertainer but not advocate

Question Number : 15 Question Id : 9277598725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad s &, Fys ThiheR &1 ufafAfia BT §, 30 IRGHR HI U1 HRl &, Tyl Mfaddr &1 ufaffia 1 8, 3mad
TR &1 ufafAfera o 8 3R avf It &1 ufafafid wrar gl

3eR <A’ frgeT ufafifia g2




Options :

1. # QhR), IRGHRI, SHfaaarsii iR ARG &3 aId| b1 THg dfd- SeH! &1 g
2. % Jfergad, ST, MHIRY 3R ARSH B aTdl &1 JHE Al dRgHR 1 gl |

3. ¢ ITHY, IRAHR, AT 3R AARSH B aTal BT YHE Al WHER) BT g

4. % I, TRGHR, WHTR] 3R AR HRA aTd T JHg A Sifaddr &1 el

Question Number : 16 Question Id : 9277598726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

[s0u]|[Nus]||¥30]|[305]| -

Options :

o
-]
-]

1. #®

-

—
[ |m
-]

T

2.¢




Question Number : 16 Question Id : 9277598726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST DT TG4 DX S FEfeiRad sipfa e § uy g (2) ol ufaiid s |

(3R e ey

Options :

[T¥8]




of
1I|Ei
o
Ell
'[l'l:l’
Ell

Question Number : 17 Question Id : 9277598727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.

Options :



3.

Question Number : 17 Question Id : 9277598727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foau e ool & Q, 39 3pfa o1 =g B forgd u 3nepfa srafifed / fydt 82



Options :

3.¢




Question Number : 18 Question Id : 9277598728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure .

er .-"’I_I.-"ll_ /‘lrlll_.’ /I_."'r/.r.."':,-' J:,." .'. /:I ;I.' /I.l.- "; -l__." E

Options :




3.¢

Question Number : 18 Question Id : 9277598728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U fadetl & 9, 39 SIH A &1 999 B Sl fal T Y 31dHid H1 U0l ufafara g |

r'-' E

7
I

/11711177777

(]

=/

Options :




2. %
3.9

.
4, %

Question Number : 19 Question Id : 9277598729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of hexagon in the given figure.



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.8

2.7

3.9

4.10

Question Number : 19 Question Id : 9277598729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 71 Mpfa B Yoyl B GBI J1d BT

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.

Question Number : 20 Question Id : 9277598730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

Options :




N

2.¥

Question Number : 20 Question Id : 9277598730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fa el O @ 39 fabed &1 AU S Uy 3HThid &l R dR|






Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

General Awareness

2
927759334
0

0

No

No

0

20

No

General Awareness

927759360
1

Online
Mandatory
20

20

20

Yes

1
927759427
Yes



Question Number : 21 Question Id : 9277598731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The paintings at Ajanta depict stories of the
Options :

1. ¥ Ramayana

2. % Mahabharat

3. * Panchatantra

4, ¥ Jatakas

Question Number : 21 Question Id : 9277598731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3rotaT & fom @ HEI! Pl G § |
Options :

1. ® THYU

2. % HgIHRd

3. % Ggdd

4, ¥ S[dd

Question Number : 22 Question Id : 9277598732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dance is a solo dance.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Kuchipudi

2. OttanThullal

3. Odissi



4. Mohiniattam

Question Number : 22 Question Id : 9277598732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T4, T Uod T 5 |

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. pragst

2.ah§=fﬁc—vn?«r
3. Sfifsdt

4. MifgTered

Question Number : 23 Question Id : 9277598733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the oldest form of composition of the Hindustani vocal music.
Options :
1. # Gazal
2. # Thumri
3. % Dhrupad
4. # Tappa

Question Number : 23 Question Id : 9277598733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEGET! TR THid 1 a1 1 T RAT U g |

Options :
1. % Il




2. % g
3. ¢ 4Ug
4, % TOql

Question Number : 24 Question Id : 9277598734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was known as the ‘Flying Sikh of India’.
Options :
1. * Fauja Singh
2. ®* Harbhajan Singh
3. ¥ Budhia Singh
4. ¥ Milkha Singh

Question Number : 24 Question Id : 9277598734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 DI'YRI P et R o U H SFE1 S o
Options :

1. % iorn Rig

2. % gIyoH g

3. % g Rig

4. ¢ foreEn Rig

Question Number : 25 Question Id : 9277598735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the fourth highest civilian award in the Republic of India.
Options :
1. ¥ Bharat Ratna
2. % Padma Vibhushan



3. % Padma Shri
4. % Padma Bhushan

Question Number : 25 Question Id : 9277598735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, YRS TURTSY H AT e TR REBR g
Options :
1. # HRd¥d
2. % U faymu
3. ¢ TR 41
4. % U] HYUT

Question Number : 26 Question Id : 9277598736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which woman mountaineer recorded “world’s fastest ascent of Everest by a woman”?
Options :

1. ¥ Tsang Yin-hung

2. % Bachendri Pal

3. # Premlata Agrawal

4. ¥ Santosh Yadav

Question Number : 26 Question Id : 9277598736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for Afgar UddRIE! 7 "Ie ARRA gRT fa%a & Tad dof TaRE dg18" Gol B2

Options :
1.« i A8
2. % g%l Ud

3. % QOdl AT




4, % IdIY greq

Question Number : 27 Question Id : 9277598737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

has been conferred with the “Green Urja Award” for being the Leading Public Institution in the Financing Institution for Renewable
Energy this year.

Options :

1. # Larsen & Toubro Limited(LNT)

2. ¥ Indian Renewable Energy Development Agency Ltd. (IREDA)
3. # Salim Ali Centre for Ornithology and Natural History (SACON)
4. ¥ Bombay Natural History Society (BNHS)

Question Number : 27 Question Id : 9277598737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 gy e Sull & fAar ST H ST WraeiHe SR 81 & fort gl Solf REeR & Wi fasar g
Options :

1. % IR TS gall faffies (LNT)

2. ¢ YR &g SHoll (b Toid! e s (IREDA)

3. % el 3feh Yer B Ao U8 A9Rd fR%T (SACON)

4. % i TR 3! TRIsdl (BNHS)

Question Number : 28 Question Id : 9277598738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which are the two sectors in terms of ownership of assets or services?
Options :

1. ¥ Public and Private

2. % Open and Close

3. # Direct and Indirect

4. ® Primary and Secondary



Question Number : 28 Question Id : 9277598738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ut a1 Jarsii & Wifd & A 8 &1 89 S 9 g7
Options :

1. ¢ FaSIHd SR fFoft

2. % T 3R &g

3. % Gg 3R e

4. % YYD SR ATeAD

Question Number : 29 Question Id : 9277598739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Removing barriers or restrictions set by the government on trade is known as
Options :

1. # Globalisation

2. ¥ Liberalisation

3. % Privatisation

4. ¥ Arbitration

Question Number : 29 Question Id : 9277598739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR R WHR gRT FAaiia arereii a1 ufasel o gem &) & ¥ H ST WA |
Options :

1. % gsftevur

2. ¢ IERIARTI

3. % [ASiihRul

4. % AR




Question Number : 30 Question Id : 9277598740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Nepal adopted an interim Constitution.
Options :

1. % 2006

2. % 2009

3. % 2007

4. % 2005

Question Number : 30 Question Id : 9277598740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H U7 A T S{dIRH Hfau™ |
Options :
1. % 2006
2. % 2009
3. % 2007
4. % 2005

Question Number : 31 Question Id : 9277598741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  party’s symbol is flowers and grass.
Options :

1. * Bahujan Samaj Party

2. ¢ All India Trinamool Congress

3. ¥ Communist Party of India

4. % Nationalist Congress Party

Question Number : 31 Question Id : 9277598741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e e pd SR g g |
Options :

1. % Sgoid S Ul

2. ¢ AT YR Jud B

3. % YRAG HRFRe aref

4. % yardl HiUY uref

Question Number : 32 Question Id : 9277598742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the number of isotopes of hydrogen?
Options :

1. %1

2.% 5

3.3

4, % 7

Question Number : 32 Question Id : 9277598742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g SIo & JHRITD] 1 T fobal gieht &2
Options :

1. %1

2.% 5

3.3

4. %7

Question Number : 33 Question Id : 9277598743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The red color of tomatoes is due to



Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :

1. Lycopene

2. Carotene

3. Acetone

4. Acetone and Carotene

Question Number : 33 Question Id : 9277598743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIER B AT T & HRU BTG

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. A DIGH
2. IR

3. TleH
4. THRH 3R HRAIEH

Question Number : 34 Question Id : 9277598744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the population of rural India as per 2011 Census?
Options :

1. ¥ About 833 million

2. % About 733 million

3. % About 933 million

4. % About 783 million



Question Number : 34 Question Id : 9277598744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 B STIUAT & AR U HRA HI SR fava 82
Options :

1. ¢ YT 833 fhfera

2. % oY 733 fHfera

3. % T 933 fHfera

4. % oY 783 ffera=

Question Number : 35 Question Id : 9277598745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tidal energy is energy obtained through
Options :

1. # Sunlight

2. % Wind

3. ¥ Oceanic tides

4. % Biomass

Question Number : 35 Question Id : 9277598745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS FHIEH I U Sl o
Options :

1. % ROl b A—HL

2. % ®gdl

3. ¢ ARG SaR

4. % SIOHN™



Question Number : 36 Question Id : 9277598746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Monazite sand does not contain

Options :

1. ¥ Thorium

2. * lanthanum

3. # Cerium

4. ¥ Actinium

Question Number : 36 Question Id : 9277598746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHegeXdd  Eigargl
Options :

1. % Uifegw

2. % WRAH

3. % IRgw

4. ¢ Ufaefgn

Question Number : 37 Question Id : 9277598747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social work?
Options :

1. # Swami Ramakrishna Paramhansa

2. % Swami Vivekananda

3. % Swami Dayanand Saraswati

4. ¥ Gopal Krishna Gokhale

Question Number : 37 Question Id : 9277598747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HIFER I8 TR AT B B b 1T 1896 H AW FIRI b1 RITTAT fober 1 ol
Options :

1. % W IHH W] RAGY

2. ¢ W fddeHg

3. % Wl gyrG Rl

4. % MU HUT TREe

Question Number : 38 Question Id : 9277598748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which Viceroy’s tenure was the Simon Commission appointed?
Options :

1. # Lord Wellesley

2. % Lord Irwin

3. # Lord Chelmsford

4. # Lord Wellington

Question Number : 38 Question Id : 9277598748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHF HHIIA 5T TR & SIS P SR gad foar mar ur
Options :

1. ® QIS deivell

2. ¢ QIS A

3. % dle JRIbhle

4. % QIS dfeiTes

Question Number : 39 Question Id : 9277598749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When was the second battle of Panipat fought?
Options :
1. % 1757
2.9 1556
3. % 1526
4, % 1572

Question Number : 39 Question Id : 9277598749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O B ga3) dSls $d del T8 U
Options :

1. % 1757

2.9 1556

3. % 1526

4. % 1572

Question Number : 40 Question Id : 9277598750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the Presidency of the 76th Session of the United Nations General Assembly (UNGA)?
Options :

1. # Abdulla Samar Abbas

2. % Abdulla Moin

3. # Abdulla Shafiq

4. ¥ Abdulla Shahid

Question Number : 40 Question Id : 9277598750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT AP HETAHT (UNGA) & 76d T 1 3eh&rdT fobar Sl
Options :



1. % 3Tl R e

2. % 3fsgea Higd
3. % 3fogedll YBID
4. ¢ 3fegedl ARG

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 9277598751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Arithmetic Ability

3
927759335
0

0

No

No

0

20

No

Arithmetic Ability

927759361
1

Online
Mandatory
20

20

20

Yes

1
927759428
Yes



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the smallest among *3/12 , ¥4, *3/5 and V3 .

Options :
. 19 12

Va

2. %
3¢ V5

Question Number : 41 Question Id : 9277598751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V12, V4.'¥Y5 and V3 H HE BlITEIS.

Options :
- 18 12

V4

2. %

3 v V5



4% V3

Question Number : 42 Question Id : 9277598752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

36 x 4 + 25 104
13 2

Options :
1. %5
2.% 6
3.8
4. %9

Question Number : 42 Question Id : 9277598752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad us # usaras g (2) & R IR 31 919 ST

36 x 4 + 25 104
13 2

Options :
1. %5
2.% 6
3.8



4.%9

Question Number : 43 Question Id : 9277598753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

3X3X3I+5X5X5_

(3)*+(5)*-3 x5

Options :
1. #® 12
2. % 13
3. % 15
4. 98

Question Number : 43 Question Id : 9277598753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAoferfad uy o usarae fomg (2) & R IR T HE ST

3%3X3+5XEXS5
(3)*+(5)*-3 x5

l."j

Options :
1. % 12
2.% 13
3. % 15
4.9 8

Question Number : 44 Question Id : 9277598754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A number 1a2b3c is exactly divisible by 11. What are the possible values for (a, b, ¢)?
Options :

1.¥ (4,0, 2)

2. % (4,5,3)

3. % (5,2,7)

4. % (5,3,6)

Question Number : 44 Question Id : 9277598754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ST 1a2b3c BT 11§ gofd: fauIford foear ST aHa1 81 (a, b, ¢) & o Furfad A F1 62
Options :

1.9 (4,0,2)

2. % (4,5,3)

3. % (5,2,7)

4. % (5,3,6)

Question Number : 45 Question Id : 9277598755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a six days 20 — 20 cricket tournament, a player makes different runs on all six days. The average runs scored by him in first five days are 55
and the average runs scored by him in last five days are 66. On sixth day, he scored 50 percent more runs than scored on first day. What are the
runs scored by him on sixth day?

Options :
1. * 150
2.9 165
3. % 140
4. % 125

Question Number : 45 Question Id : 9277598755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

38 el & U 20-20 fhdbe gafde H, T faams! Wil @8 feAl § S/a-31erT 37 §1a1 § | 3% §RT Ugd Uid T § a1 714 3f™Id 3 55
& SfRR Sifad g =1 & I GRT T T 3¥d 3 66 § | §6 &, I8 Ugd fad &1 ga1 § 50 Ufa=id $1fids 3 §H1a1 5| B o 3ud
GRI §IY T 3 182

Options :

1. % 150

2.9 165

3. % 140

4. % 125

Question Number : 46 Question Id : 9277598756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Adam purchased 20 percent more chocolates than Baali. The price of each chocolate purchased by Baali is 50 percent more than the price of each
chocolate purchased by Adam. Money spends by Baali is what percent more than that of Adam on chocolates?

Options :

1. # 22.5 percent
2. % 25 percent
3. % 30 percent
4. % 15 percent

Question Number : 46 Question Id : 9277598756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSH A Tt ¥ 20 U= Sifdew didace WRic! | e gRT WG] 718 Udd didbac $f HIAd TSH gRI WGl 718 Udd didbac $i HIId J 50
yfawrd sifdies 8 | STl gRT Ticbale R T fobdT 711 U1 USH & W o o ufawra oifdies g2

Options :

1. % 225 gfa=rd
2. ¢ 25 Ufard
3. % 30 gfa=rd
4. % 15 gfaerd




Question Number : 47 Question Id : 9277598757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The percentage of loss incurred in selling an article for Rs.6,800 is equal to the percentage of gain earned by selling the same article for Rs.7,450.
What could be the selling price of the same article if the profit percentage is 16 percent?

Options :

1. ¥ Rs.8,265
2. % Rs.7,460
3. ¥ Rs.7,685
4. % Rs.8,480

Question Number : 47 Question Id : 9277598757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T P 6,800 T0U T 97 §U Y THU 1 Ua=Id, ST I BT 7,450 IU T oa-  Sfoid A1 o UA=Id & SRI6R gl Al AT Bl
Ufa=rd 16 UfARId 8, Y I aXg &1 faehd Yoo o1 §) Tehall 32
Options :

1. ¢ 8265300
2. % 7,460 30T
3. % 7685900
4, % 8480 30T

Question Number : 48 Question Id : 9277598758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain store, the profit is 250 percent of the cost price. If the cost price increases by 20 percent but the selling price remains constant,
approximately what percentage of the selling price is the profit?

Options :

1. # 75 percent
2. ¥ 66 percent
3. % 60 percent
4. % 56 percent



Question Number : 48 Question Id : 9277598758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i3 ghE |, a4 %9 G $1 250 UTa=Id 7 | afe 3a T H 20 Ufa=id &1 gfs 8t & for fasha Hea IaH g §, ) v, fasha
Wwwwwmtg
Options :

1. % 75 gfa=rd
2. ¢ 66 UfaRId
3. % 60 Ufard
4. % 56 Gfaerd

Question Number : 49 Question Id : 9277598759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling 45 laddus for Rs. 40, a man loses 20 percent. How many laddus should he sell for Rs. 24 to gain 20 percent?
Options :

1. ® 16

2. %20

3.4 18

4. % 15

Question Number : 49 Question Id : 9277598759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gg@raﬁm FUd T 45 TS ST W, 20 UfIRId &1 81 Bt 81 24 TG | 20 UfA=Id a4 U 634 & forg I fohan Tsg oo
9

Options :

1. % 16

2.% 20

3.9 18

4. % 15




Question Number : 50 Question Id : 9277598760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There were 46 students in a boys hostel. Due to the admission of eight new students the expenses of the hostel mess were increased by Rs.42 per
day while the average expenditure per head diminished by Rs 1. What was the original expenditure of the hostel mess?

Options :

1. ¥ Rs.572
2. % Rs.544
3. ¥ Rs.552
4. % Rs.652

Question Number : 50 Question Id : 9277598760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSP & TP SHAN H 46 BT Y| 3113 U ST & Y= & HRUI SHTEN o HISHIAT 1 7 42 30 Ul i 9¢ 731, Siafes ufa afad
3 Y 1 ST HH 81 T, O ST & HISHI BT dRAdP a7 T Y12
Options :

1. % 572309
2. % 544309
3. ¢ 552 %09
4. % 65230°

Question Number : 51 Question Id : 9277598761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the ages of Dev and his son is 4 : 1 respectively. After 11 years, their ages will be in the ratio 13 : 6 respectively. What was Dev's age
when his son was born?

Options :

1. # 25 years
2. % 21 years
3. * 24 years



4. % 23 years

Question Number : 51 Question Id : 9277598761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 3TR IHh T 1 3TY BT U HH: 4: 1 81 11 AW b §1Q, I 3G HH: 13 : 6 P U H G | S I o BT &H Gl T, Al
ad P13 fobat ot

Options :

1. % 2599

2. ¥ 21 dY

3. % 249

4. % 2399

Question Number : 52 Question Id : 9277598762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between simple interest and compound interest on a sum of Rs.1200 for one year at 10 percent per annum, compounded
half yearly?

Options :
1. # Rs.30
2. ¥ Rs.3
3. % Rs.60
4. % Rs.6

Question Number : 52 Question Id : 9277598762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1200 =0T FT 10 YA 1 o= T U I8 & ATURUT 15T 3R Tehdfeg SAST H SR 1 8, Afe sret srefanifes 3 g1
Options :

1. % 300

2. 3FWY

3. % 60 FTY




4. % 61TY

Question Number : 53 Question Id : 9277598763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 19 84 fhH URT & Ufded iR 252 fHH YRT & SIHd g DI 15 8¢ H 0 I Tdhall ¢ | Ife Uid ofd H A1d &1 T, URT &1 I &7 <4
AT 8, A 126 et 41 & Ufded g8 ) 08 B | 19 B! foba1 99T TR

Options :
. % 74¢
2. % 8¢
3. ¥ 9%cC
4. % 66c

Question Number : 53 Question Id : 9277598763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat can cover 84 km upstream and 252 km downstream in 15 hours. If the speed of the boat in still water is thrice the speed of stream, then
find the time taken by the boat to cover 126 km upstream.

Options :

1. # 7 hours
2. # 8 hours
3. % 9 hours
4. % 6 hours

Question Number : 54 Question Id : 9277598764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how much time will a car cover a distance of 9000 meter with a speed of 90 kmph.?
Options :

1. ¥ 0.1 Hour

2. % 0.2 Hour

3. % 0.3 Hour



4. % 0.4 Hour

Question Number : 54 Question Id : 9277598764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhd T H U HR 90 Tl Ul ¢ &t 71l o Ty 9000 Hex B g1 Dl a8 B
Options :

1.+ 0.19¢

2. % 0274

3. % 034¢

4. % 0474

Question Number : 55 Question Id : 9277598765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arihant starts doing a certain work. After 4 days, Arun who is half efficient as Arihant starts working on the same work. As a result, the work
gets completed in 9 more days. What is the time to complete the work if Arun does it alone?

Options :

1. # 32 days
2. ¥ 35 days
3. % 38 days
4. % 39 days

Question Number : 55 Question Id : 9277598765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T P PTH HRAT & BT 1 4 &A1 o S, 3re0T, Sif 3R U ST PRIGRT 8, S T W P A1 L& FRAT |
Toitorad, BT 9 31 fol § [T 8T g1 A 30T 3fardl BT Bl § dl B B T B | =1 T8 @

Options :

1. % 327eq
2. ¢ 35T
3. % 3g8feq




4, % 39feq

Question Number : 56 Question Id : 9277598766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work in 6, 8 and 12 days respectively. Doing that work together they get an amount of total Rs. 1350, the share of B in that
amount is:

Options :

1. ¥ Rs. 450
2. % Rs. 440
3. ¥ Rs. 400
4. % Rs. 430

Question Number : 56 Question Id : 9277598766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C U BT Bl HH: 6, 8 T 12 TG T T HR Thd ¢ | 519 d T A1 BT B I@ 8 dl SD! $dl 1350 =0 Holgd el ¢
A B &1 AolgR! fhdHl 82

Options :

1. ¢ 450 &0

2. % 440 FUY

3. % 400 T

4. % 430 04

Question Number : 57 Question Id : 9277598767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the cost of painting the total surface area of the hemisphere of radius 14 m at the rate of Rs. 5/m?2.
Options :

1. ¥ Rs.9240

2. * Rs.9080

3. ¥ Rs.9170



4. % Rs.9360

Question Number : 57 Question Id : 9277598767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 TOU/HIER? B &R W 39 3¢ et & THUl U &l 1T B ANTd J1d B oTqe! e 14 Hiex g |
Options :

1. ¢ 9240 39T

2. % 9080 Y

3. % 9170 >0Y

4. % 9360 STY

Question Number : 58 Question Id : 9277598768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chessboard contains 64 equal squares and the area of each square is 2.56 cm?. Find the length of the side of the chessboard.
Options :

1. % 3.5cm

2. % 4cm

3. 12.8 cm

4, % 8cm

Question Number : 58 Question Id : 9277598768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sl BT Ued 64 THM G 4 fHABR ST 8 IR TS aF BT &6 2.56 THI2 § | UaRol & Jed B Yol J1d Pifod |
Options :

1. % 3594l

2. % 490

3. 12.8 9ol

4. % g gl




Question Number : 59 Question Id : 9277598769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the number of workers in various departments with different age groups in a company.

Depaitineiit 2]1 - 25 26 —30 31-35 36 —40
(age in vears) (age in vears) (age in vears) (age in vears)
Production 250 300 210 150
Marketing 120 85 60 75
Logistic 70 B3 80 95
Finance 20 35 40 130
Sales 40 60 35 115

Which age group has the highest average number of workers in various departments?

Options :

1. % 26-30
2. % 31-35
3.9 36-40
4. % 21-25

Question Number : 59 Question Id : 9277598769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 26-30
2. % 31-35
3.9 36-40
4. % 21-25

Question Number : 60 Question Id : 9277598770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following line graph represents the sale of the number of Burgers at a shop for the seven days.
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On which day, the number of burgers sold is equal to the average number of burgers sold by the shopkeeper during the given period?
Options :

1. # Friday

2. # Saturday

3. ¥ Wednesday

4. ¥ Monday

Question Number : 60 Question Id : 9277598770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # YhdR
2. % AR
3. ¥ gYdR
4. % GHIR
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Question Number : 61 Question Id : 9277598771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

If we release the fishes on the water surface, they will being eaten by bigger fishes.
Options :

1. # If we release the

2. * fishes on the water surface

3. ¥ they will being eaten by bigger fishes

4. % No error

Question Number : 61 Question Id : 9277598771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

If we release the fishes on the water surface, they will being eaten by bigger fishes.
Options :

1. # If we release the

2. # fishes on the water surface

3. ¥ they will being eaten by bigger fishes

4. # No error

Question Number : 62 Question Id : 9277598772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

How can the governments achieve a state of a clean environment in cities in future?
Options :

1. * How can the governments achieve

2. % astate of a clean environment

3. * in cities in future

4. ¥ No error

Question Number : 62 Question Id : 9277598772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

How can the governments achieve a state of a clean environment in cities in future?
Options :

1. # How can the governments achieve

2. # a state of a clean environment

3. % in cities in future

4. ¥ No error



Question Number : 63 Question Id : 9277598773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

A well-known animal living in the polar regions are a penguins.
Options :

1. # are penguin

2. # penguin

3. % is the penguin

4. # No improvement

Question Number : 63 Question Id : 9277598773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

A well-known animal living in the polar regions are a penguins.

Options :

1. ¥ are penguin
2. % penguin

3. ¥ is the penguin

4. % No improvement

Question Number : 64 Question Id : 9277598774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

The teacher asked me to (do away) my assignment and submit it to her before the weekend.
Options :



1. # doup
2. % do over
3. % do away with

4. ¥ No Improvement

Question Number : 64 Question Id : 9277598774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

The teacher asked me to (do away) my assignment and submit it to her before the weekend.
Options :

1. % doup

2. % do over

3. % do away with

4. % No Improvement

Question Number : 65 Question Id : 9277598775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Different strategies have been used to awareness about education.
Options :

1. # spreading

2. # had spread

3. % have spread

4. ¥ spread

Question Number : 65 Question Id : 9277598775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Different strategies have been used to awareness about education.
Options :

1. # spreading

2. # had spread

3. % have spread

4. ¥ spread

Question Number : 66 Question Id : 9277598776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

To over past misfortunes can only bring sadness.
Options :

1. ¥ dwell

2. % dwelt

3. # dwelling

4. % dwelled

Question Number : 66 Question Id : 9277598776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

To over past misfortunes can only bring sadness.
Options :

1. % dwell

2. % dwelt

3. # dwelling

4. % dwelled



Question Number : 67 Question Id : 9277598777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Remember to from making any negative remarks about the project.
Options :

1. * abstain

2. ¥ refrain

3. % keep up

4. * going

Question Number : 67 Question Id : 9277598777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Remember to from making any negative remarks about the project.
Options :

1. #* abstain

2. ¥ refrain

3. % keep up

4. # going

Question Number : 68 Question Id : 9277598778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S which when logically arranged form a coherent passage. Choose the option that
represents the most logical order.

P. with advanced tool and technology,

Q. unlike today’s simpler and easier life

R. the early human beings lived differently

S. making best gadgets and facilities available easily



Options :

1. # PQRS
2. ¥ RQPS
3. ¥ RSPQ
4. ¥ RPSQ

Question Number : 68 Question Id : 9277598778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S which when logically arranged form a coherent passage. Choose the option that
represents the most logical order.

P. with advanced tool and technology,

Q. unlike today’s simpler and easier life

R. the early human beings lived differently

S. making best gadgets and facilities available easily

Options :

1. % PQRS
2. ¥ RQPS
3. ¥ RSPQ
4. % RPSQ

Question Number : 69 Question Id : 9277598779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Ease

Options :

1. ¥ Demean
2. % Expression
3. ¥ Soften

4. % Assault



Question Number : 69 Question Id : 9277598779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Ease

Options :

1. * Demean
2. % Expression
3. % Soften

4. % Assault

Question Number : 70 Question Id : 9277598780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Dogma
Options :

1. * Principle
2. % Doubt
3. * Justice
4. * Optional

Question Number : 70 Question Id : 9277598780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Dogma
Options :

1. ® Principle



2. ¥ Doubt
3. #® Justice
4. # Optional

Question Number : 71 Question Id : 9277598781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Amateur

2. ¥ Harrasment

3. % Climactic

4. # Definitely

Question Number : 71 Question Id : 9277598781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ Amateur

2. ¥ Harrasment

3. % Climactic

4. # Definitely

Question Number : 72 Question Id : 9277598782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. * Piognant

2. % Poignant

3. # Poegnant



4. ¥ Poignent

Question Number : 72 Question Id : 9277598782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. % Piognant

2. ¥ Poignant

3. % Poegnant

4. ® Poignent

Question Number : 73 Question Id : 9277598783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

In the heat of the moment.

Options :

1. ¥ Overwhelmed by what is happening in the moment.
2. # Keep something away.

3. % To share information that was previously concealed.

4. * In a confused or befuddled state of mind.

Question Number : 73 Question Id : 9277598783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

In the heat of the moment.
Options :
1. ¥ Overwhelmed by what is happening in the moment.

2. # Keep something away.



3. % To share information that was previously concealed.

4. * In a confused or befuddled state of mind.

Question Number : 74 Question Id : 9277598784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Zip up your lip.
Options :

1. # To reveal a secret.
2. ¥ To be quiet.

3. % To be friendly.

4. % To hold grudges.

Question Number : 74 Question Id : 9277598784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Zip up your lip.
Options :

1. % To reveal a secret.
2. % To be quiet.

3. % To be friendly.

4. # To hold grudges.

Question Number : 75 Question Id : 9277598785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Power of reading others' thoughts.



Options :

1. % Teleportation
2. % Telekinesis
3. ¥ Telepathy

4. # Antipathy

Question Number : 75 Question Id : 9277598785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Power of reading others' thoughts.
Options :

1. # Teleportation

2. % Telekinesis

3. ¥ Telepathy

4. ¥ Antipathy

Sub-Section Number : 2
Sub-Section Id : 927759430
Question Shuffling Allowed : Yes

Question Id : 9277598786 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Alfonso Cuardn is a Mexican film director, producer, screenwriter, cinematographer and editor. Cuardn is the first Mexico-born filmmaker to win
the Academy Award for Best Director. He has been nominated for Academy Awards in six different categories, a record he shares with Walt
Disney and George Clooney. Cuarén has received 11 Academy Award nominations, winning four including Best Director for Gravity (2013) and
Roma (2018), Best Film Editing for Gravity, and Best Cinematography for Roma. His other notable films from a variety of genres include the
family drama A Little Princess (1995), the romantic drama Great Expectations (1998), the coming of age road film Y tu mama también (2001),
the fantasy film Harry Potter and the Prisoner of Azkaban (2004), and the science fiction dystopian thriller Children of Men (2006). Alfonso
Cuardn Orozco was born in Mexico City, the son of Alfredo Cuardn, a doctor specializing in nuclear medicine, and Cristina Orozco, a
pharmaceutical biochemist.



He has two brothers, Carlos, also a filmmaker, and Alfredo, a conservation biologist. He studied philosophy and filmmaking. There he met the
director Carlos Marcovich and cinematographer Emmanuel Lubezki, and they made what would be his first short film, Vengeance Is Mine.). In
addition to writing, producing and directing, Cuardn co-edited the film with Luis Patlan. The film, which also starred singer, Astrid Hadad and
model/actress Claudia Ramirez (with whom Cuardn was linked between 1989 and 1993) was a big hit in Mexico. After this success, director
Sydney Pollack hired Cuaroén to direct an episode of Fallen Angels, a series of neo-noir stories produced for the Showtime premium cable
network in 1993; other directors who worked on the series included Steven Soderbergh, Jonathan Kaplan, Peter Bogdanovich, and Tom Hanks. In
1995, Cuardn released his first feature film produced in the United States, A Little Princess, an adaptation of Frances Hodgson Burnett's classic
novel.

Sub questions

Question Number : 76 Question Id : 9277598787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct, according to the given passage?

Options :

1. # Alfonso has also been part of Harry Potter.

2. % Alfonso is the first Mexico-born filmmaker to win the Academy Award for Best Director.
3. # Alfonso has been nominated for Academy Awards in six different categories.

4. ¥ Alfonso studied both psychology and filmmaking.

Question Number : 77 Question Id : 9277598788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the first short film of Alfonso Cuaron?
Options :

1. # Fallen Angels

2. % Solo con tu pareja

3. % A Little Princess

4. ¥ Vengeance Is Mine

Question Number : 78 Question Id : 9277598789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Director Sydney Pollack hired Cuardn to direct an episode of Fallen Angels, a series of neo-noir stories produced for the Showtime premium
cable network in 1993. The following were the co-directors in the series, except...



Options :

1. # Steven Soderbergh
2. % Claudia Ramirez
3. % Peter Bogdanovich
4. # Jonathan Kaplan

Question Number : 79 Question Id : 9277598790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Alfonso has been nominated for Academy Awards in six different categories. Who else has made this record
except Alfonso?

Options :

1. # Carlos Marcovich
2. % Emmanuel Lubezki
3. ¥ George Clooney

4. % Alfredo Cuar6n

Question Number : 80 Question Id : 9277598791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the film ‘Children of Men’ falls in which genre?
Options :

1. # Romantic drama

2. % Science fiction

3. # Family drama

4. % Action thriller

Question Id : 9277598786 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Alfonso Cuardn is a Mexican film director, producer, screenwriter, cinematographer and editor. Cuardn is the first Mexico-born filmmaker to win



the Academy Award for Best Director. He has been nominated for Academy Awards in six different categories, a record he shares with Walt
Disney and George Clooney. Cuardn has received 11 Academy Award nominations, winning four including Best Director for Gravity (2013) and
Roma (2018), Best Film Editing for Gravity, and Best Cinematography for Roma. His other notable films from a variety of genres include the
family drama A Little Princess (1995), the romantic drama Great Expectations (1998), the coming of age road film Y tu mama también (2001),
the fantasy film Harry Potter and the Prisoner of Azkaban (2004), and the science fiction dystopian thriller Children of Men (2006). Alfonso
Cuarén Orozco was born in Mexico City, the son of Alfredo Cuardn, a doctor specializing in nuclear medicine, and Cristina Orozco, a
pharmaceutical biochemist.

He has two brothers, Carlos, also a filmmaker, and Alfredo, a conservation biologist. He studied philosophy and filmmaking. There he met the
director Carlos Marcovich and cinematographer Emmanuel Lubezki, and they made what would be his first short film, Vengeance Is Mine.). In
addition to writing, producing and directing, Cuardn co-edited the film with Luis Patlan. The film, which also starred singer, Astrid Hadad and
model/actress Claudia Ramirez (with whom Cuardn was linked between 1989 and 1993) was a big hit in Mexico. After this success, director
Sydney Pollack hired Cuaroén to direct an episode of Fallen Angels, a series of neo-noir stories produced for the Showtime premium cable
network in 1993; other directors who worked on the series included Steven Soderbergh, Jonathan Kaplan, Peter Bogdanovich, and Tom Hanks. In
1995, Cuardn released his first feature film produced in the United States, A Little Princess, an adaptation of Frances Hodgson Burnett's classic
novel.

Sub questions

Question Number : 76 Question Id : 9277598787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct, according to the given passage?

Options :

1. # Alfonso has also been part of Harry Potter.

2. % Alfonso is the first Mexico-born filmmaker to win the Academy Award for Best Director.
3. # Alfonso has been nominated for Academy Awards in six different categories.

4. ¥ Alfonso studied both psychology and filmmaking.

Question Number : 77 Question Id : 9277598788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the first short film of Alfonso Cuaron?
Options :

1. # Fallen Angels

2. % Solo con tu pareja

3. % A Little Princess



4. ¥ Vengeance Is Mine

Question Number : 78 Question Id : 9277598789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Director Sydney Pollack hired Cuardn to direct an episode of Fallen Angels, a series of neo-noir stories produced for the Showtime premium
cable network in 1993. The following were the co-directors in the series, except...

Options :

1. # Steven Soderbergh
2. ¥ (Claudia Ramirez
3. # Peter Bogdanovich
4. % Jonathan Kaplan

Question Number : 79 Question Id : 9277598790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Alfonso has been nominated for Academy Awards in six different categories. Who else has made this record
except Alfonso?

Options :

1. % Carlos Marcovich
2. ¥ Emmanuel Lubezki
3. ¥ George Clooney

4. % Alfredo Cuar6n

Question Number : 80 Question Id : 9277598791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the film ‘Children of Men’ falls in which genre?
Options :

1. ¥ Romantic drama

2. % Science fiction

3. # Family drama

4. % Action thriller
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Question Number : 81 Question Id : 9277598792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRad o O afigdaR" &1 I8 IS fawse $1H-91 52

Options :



1. % gifgd + IR
2. % Fifigd + 3R
3. ¢ Tl + 3R
4. % gifigdd: +3

Question Number : 81 Question Id : 9277598792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o § -arfedaR &1 ge! It fawde HA-arg?
Options :

1. ® g + IR

2. % g + 3R

3. ¢ g + TR

4, % “v'ﬂ%?:[: +3

Question Number : 82 Question Id : 9277598793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad # ¥ dH WIsg &1 g BHIfoTe-
Options :

1. * oIl

2. % goullU-

3. % JdgaiR

4. ® ol

Question Number : 82 Question Id : 9277598793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed § ¥ d@H eg &1 9949 BIfoTe-
Options :

1. * oIl




2. ¥ {oullu-
3. % Ydg«i}
4. % Hbol

Question Number : 83 Question Id : 9277598794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfRed & 9 B1H-91 Ue Iu 81 52
Options :

1. % Sdd

2. % UR

3. ¥ Y

4, 9IS

Question Number : 83 Question Id : 9277598794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9 $1H-91 s U] 51 52
Options :

1. % Sdd

2. % UR

3. % 9y

4. ¢ 99

Question Number : 84 Question Id : 9277598795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iR & O HH-9T 2165 g THN &1 31610 82
Options :

1. * [HPW]

2. ¢ qdXcA




3. ® HdaIdl

4. % Hifafagor

Question Number : 84 Question Id : 9277598795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfRad & @ SH-91 Weg 5] TH &1 3ST6R0T 62
Options :

1. % JHPWT

2. % A

3. % Hdcldl

4. % Hifafrgor

Question Number : 85 Question Id : 9277598796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pt o & neffor &1 vafaard wreg HH-91 T8 32
Options :

1. % gad

2. % DHHGIR

3. ¥ HOR

4. % §AgH

Question Number : 85 Question Id : 9277598796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & & neffor o1 vafaard <reg HH-91 781 32
Options :

1. % god

2. % HHGIR

3. ¥ HOR



4. % gagH

Question Number : 86 Question Id : 9277598797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ SRS adH arel Ueg &1 T3 BHITorg-
Options :

1.  GRATSd

2. % GRMI

3. % YRR

4. % IR

Question Number : 86 Question Id : 9277598797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfRed & @ o1l aci-l aTcl Xeg b1 I BifoTT-
Options :

1. ¢ URHTSId

2. ® GR®DI

3. % MR

4, % TR

Question Number : 87 Question Id : 9277598798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifead & 9 agH &1 fadd 2eg HH-A1 82
Options :

1. % HHGR

2.+ HITl

3. % Y1

4. % gA



Question Number : 87 Question Id : 9277598798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafead & § adH &1 fadd Teg HH-A1 82
Options :

1. % HHIR

2. ¥ HICT

3. % Hi°

4. % goA

Question Number : 88 Question Id : 9277598799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T aTeRIieT o foTT Ueh Req T =T HITTT-

Tl BT 3Thi&T dTel-
Options :

1. % Rl

2. % ARy

3. % Ry

4. ¢ BdArad

Question Number : 88 Question Id : 9277598799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRI=T & foTT Ueh X b1 T HIToL-

Tl P HThigT dTdl-
Options :

1. % BRI
2. % HAYR]



3. % ARy
4.« THAgad

Question Number : 89 Question Id : 9277598800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At & T fear mr a1 e &1d +1 3SR 82
TROT QT W1 g1 5|

Options :

1. % ggegHe Yddld
2. ¢ 3T YdbTd

3. % quf Ydprd

4. % iy gfaE H1d

Question Number : 89 Question Id : 9277598800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 foar mar 9 f5a &1 &1 e g?
RO T &1 g1 g |

Options :

1. % gdegHe Yddld
2. ¢ 3~ Ydbld

3. % guf ydera

4. % e aqq B1d

Question Number : 90 Question Id : 9277598801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=eRad & O R[S ad- arel a1 &1 9a HIfoTe-

Options :




1. % it foenfiat & vga 96 g

2. O g H1H ITd -Tg] 8l Fabdl|
3. % g GaT I ! Y I B &I |
4. % HUGTERT W10 WHR B

Question Number : 90 Question Id : 9277598801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfeRad & ¥ 3R adi! aTdt aTed &1 99 Piforg-
Options :

1. % it faenfdal o vga 95 5

2. ¥ I U HIH I g1 8 bl

3. % g GaT I ! YA I B T |

4. ® HUIT TR YIL.0F WHR B |

Question Number : 91 Question Id : 9277598802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad 5 3 frsare o1 997 Sifve.
Options :

1. % UM SREA IR YW1 TS e |

2. % 98 e W Ts 2 IReg g e 718 3|
3. % 3{Uch B DT JMHM I8 Tel g

4.« <1 g H 98T ugar i &) gueT o7 |

Question Number : 91 Question Id : 9277598802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferferRad & 4 fHsaret o1 9g- HifoTe-

Options :
1. % U9 SREH R @1 IS S|




2. % 98 Tad @l s fT R g3 a5 g
3. % 3Ub S BT JTH JgT Tal 5
4.« <01 g1 § a8l ugdT i g1 gueT ol

Question Number : 92 Question Id : 9277598803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ 9 9= & UHR &1 I99 BHIToTe-

higd! gRT Xdd AT 1|
Options :

1. ¢ HHarH

2. ® YH[ddrg

3. % Hgdra

4. % 3fHHATH

Question Number : 92 Question Id : 9277598803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferRad & I 91 & UbR b1 Ig DIfoT-

Ob\IS(ﬂﬁI gIRT R[db AT AT |
Options :

1. ¥ HUarA

2. % Yqaryg

3. % Hgard

4. % HHaATH

Question Number : 93 Question Id : 9277598804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRad o & gerarT "Sid! Ha FRTaT &1 o 3 /2



Options :

1. % §gd oy gl

2. % faqra el

3. ¢ S SR 31T T
4. % gaYrq STl

Question Number : 93 Question Id : 9277598804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRad o & gerarT Sidt Aa fFrremT o1 @ 3 g2
Options :

1. % §gd Do gl

2. % faarer el

3. ¢ O g ST Tl

4. % JYTq STl

Question Number : 94 Question Id : 9277598805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad 3 I Aieifad oS &t g aft oY Sru-t & Afdaal ISTavm &1 @t 31 g2
Options :

1. % {5t smert & ufassT 3o ey ®H )R %49 8kt 3|

2. ¢ Jfd FHRb TEHT U1 B U BT 8|

3. % fAciool I IUSRN HT 3[R 8! usd|

4. % G Y HoRAI BT 3R Foo § THdT BT HGER B |

Question Number : 94 Question Id : 9277598805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfRad & @ deifad "aig &1 gH detit dl U1 g1 Afaadl SSTT" BT T 37 57

Options :



1. % fpdt e ot ufawsT 31U+ ey ”IM R &H gl |
2. ¢ IIfd B SMTEHT 3O & Yl &l g

3. % feios R IS o1 3RR a1 gl

4. % G Y HERA BT 3R Foo § THdT BT TAER B |

Question Number : 95 Question Id : 9277598806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafed & @ fog () &1 et 7 SR
Options :

1. % 3R fIrg

2. % IS0 g

3. % 3fcufa’mH fg

4. ¢ G g

Question Number : 95 Question Id : 9277598806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefafea # @ g (5 ) 1 H&t A FdTse-

Options :

1. % ARl forg

2. % I g

3. % iR g

4. ¥ SfgiaR fag

Sub-Section Number : 2

Sub-Section Id : 927759432
Question Shuffling Allowed : Yes

Question Id : 9277598807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



fefoRad T &1 seaYde S1enae R U & IR aiford-

51 U AT HTd &, T U 4G & & H 89 45d ¥ 37U ol P a1 8! a18d | 4T YRV HRd U U I 39 A H
qrgrd § foraes fordt ofer R-aR 89 aaf® U & 39 Sidfd A1 i 8)- ST 39 ®is YH THTE STAT| Hg1 W64 T HH & UfaeR &
Bt & ST IH THTT 3ihd 89 R 8T afets IR A JAN IR US Jobdl ¢ | 4 Ub U1 3T YUf ol & o §H had IS &
Py & Udhe Hd § | GaaR TR 4GT 3R TR TR H1Y g7 YUl Udhe HR- o (018 JHTS § s dfad &I Ui TeH & 3@l
8| I8 BT 39 31 YR THE § P 9T YR IR A1 &1 dic faar §, 3-aR A1 dnl & 8 TR R e ore 3@l ¢ | forg wamer o
TSR TR YGT 3R AR W 1Y Yhe B & fo7g ford= Hit 31T a1 IR U ST 31 81 a8 THTST SR JHEM SIRATT | 4T Bt
I fARIVT T 3T a1 o T o foh for IR 81 4G 70d § S IR d18d ¢ 1o 3R AT o 4G 36, W R gARIUA 8T §,
ST 3R TH-UTT SHTeH! U - TS| 81 URATE T ST 81 ol sl i g1 U1 IR AU Th THR BT 3= SUBR ORI a6
T U1 Y HTd T TR &1 Tgferd BT dredl 7, TR U =gH|

Sub questions

Question Number : 96 Question Id : 9277598808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suad TR H1 fEfoiaa & 4 fsed & g2
Options :

1. % YT Uh GRS AU

2. % YT had U HgIq db I |

3. ¢ G U rHTfSIh HId |

4. % Had Uh YT BT HHISID HId |

Question Number : 97 Question Id : 9277598809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO e TR & SR, 4G U Ot 3fieyul oz & ford g9

Options :

1. ¢ Had U & UfAffRey # Uskhe Hd g |

2. % PHad Afad & UfAMIERSY H Uhe Hd gl

3. % PHad ¥gl P UfAFEIRET H Udbe Hd &

4. % Had 4G Td Hagdl & Ud-14ed J Jahe Hd g |




Question Number : 98 Question Id : 9277598810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR HIH-91 HYU g1 ol 87

Options :

1. % YGT TP IS HIG §, ST 30T 4GT & 9ad H 81 Hod I 310 fu ®1s a1d a1 9red |

2. % Y1 T T HHI & UfAeR H gt & FoH® IH THTT 3idhd 81 TR 18! dich IR A% TS R TS THd g |

3. % MR W HST 3R SAER TR H1Y I Ul Ydhe B & (018 JHTS H TAH SAfad Bl Ufd-14d T&H S 3@ 5 |
4. ¥ YT 3T HIG H TUR DY Gdferd el BT Tredl 8, IR Ui Irga |

Question Number : 99 Question Id : 9277598811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, o T4 & TEER R YGT 3R AR W HIY Yahe B o g fora HT 31 AT IR I ST Sa-1 ot

Options :

1. % 98 JUIS g JHS S|
2. ¥ 98 JHIS SIA]d JHLIT SR
3. % 9g 9IS Ffed THg S|
4. % I THTS G GHSJT SR

Question Number : 100 Question Id : 9277598812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suad T 1 Ifyd 2t e A A e
Options :

1. ¢ Y& DT IAY

2. % YGI. T UH HYT

3. % W U a1 H 3R

4. % WY Td WUHR

Question Id : 9277598807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (96 to 100)

FfIREd TR &1 AT gd e ST HR U=AT & IR GHoTd-

ST U AT HTG ©, ST MO 4G & & H 81 Hod J 30 oy ®is 1d a1 a1ed | 4GT YR S U 30 Pl 39 JATS §

T & oI fordlt 31 IR-aTe 89 M ®0 H 3 Sfard 1 1 8- SIFagdx 39 His M THTT STl | 4GT W8 T HHf & UiddR §
B & o1 IH UHTT 3pd 80 W e afets IR A JHS IR US Jobdl & | ¥ Ueb T e gl ol & o g bad IHIS &
TfAfRRET & e R4 & | ISR IR HGT 3R AR TR 1Y IT YOI Jdhe HR- & (o8 JATS § Ui Jfad &I Ufafifiia TaM & 3l
21 T8 BT 3T Za1 YR THEN § fob ITHT UR IR A P! qic a1 8, 4-IR A Al & a1 TR | el 818 w1 g | forg qarer &
TR TR UGT 3R AR TR 1Y Tehe HR- & forg foraq o 31fies anT qaR i it 31 €t 9 ST SIR]d JHe ST T Bt
T faRISdT Ueh 3T a1 & THeT Siorg o foTT TR 89 91T T d & 39 IR 918d & 1o SR an Hft 951 T, R S R gARI I g g,
I 3R Y-UTF 3MeH! UH - 3P g1 URdT8 T 3331 51 1o gia; i g7 AT IR AHa U UBR BT 37 SHfUBR IRT A8d
g 4GT 3T HIG H TR BT e BT areel 8, TR U Ta |

Sub questions

Question Number : 96 Question Id : 9277598808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TR T T o § e @ g2
Options :

1. % G UDh AR AU |

2. ¥ YgIdhad Uh HgIq db M|

3. ¥ GI U TSI HId |

4. % Had U YGId BT ATAING HIG|

Question Number : 97 Question Id : 9277598809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR, 4G U UHT 3Meyul ozl § ol g9

Options :

1. ¢ Pad AT & YRRy H Udhe A g |
2. % PHad Afed & YfaeRey H Uhe A g |
3. % Had Yl P UfAfFReT # Udhe HA & |




4. % $HId 4Gl Td Hasdl & WdHEReT J Jhe od g |

Question Number : 98 Question Id : 9277598810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR $H-I1 HY- gl el 82

Options :

1. % G U GTHISID HId B, ST 3(UHT 4T S 9¢d H 8H Yo d T 30 fauw i 19 8t Trsd|

2. % Y1 T T HHI & UfdBR H gl § FoHH IH THTT 3idhd 81 TR 718! dich IR A% TS R U8 THdl 5|

3. % MR W HST 3R SAER TR H1Y I YUl Y&he B & (018 JHTS H YD Afad Bl Ui+ T&H d 3@ 5 |
4.« YGTq 30 HTT H TR B! IAdferd el BT Iredl g, IR U4 Iredr g

Question Number : 99 Question Id : 9277598811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUed TR & SR, o THTel § WaraR R YT 3R TR W HIY Yae H3 o fod fora o Sifiies i aar U ST I 81

Options :

1. % 98 JUIS g JH S|
2. ¥ 98 QYIS SIA]d G SR
3. % 98 9IS FAfgd JHg S|
4. % g TS g JHAT S|

Question Number : 100 Question Id : 9277598812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suad T 1 Ifyd 2t I H A e
Options :

1. ¢ YG DI WY

2. % YGI. T UH HYT

3. % W U9 T H 3R

4. % WY Td WUHR
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Question Number : 101 Question Id : 9277598813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the reading of ammeter in the circuit given below?

Disciplinel

6
927759338

Disciplinel

927759364
1

Online
Mandatory
20

20

20

Yes

1
927759433
Yes



10 an

mn an

llllllll

Options :
1. % 14A
2.% 1A
3.9 2A
4. % 25A

Question Number : 101 Question Id : 9277598813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T §9 uRuy | vHteR &7 utedics o1 8T
14V

|HH | (o)

® 20
—WWWWW—
1m0 a0
410}

1": llllllll m
Options :
1. % 14A

2.% 1A



3.92A
4. % 25A

Question Number : 102 Question Id : 9277598814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electric iron of resistance 15Q takes a current of 3A. Calculate the heat developed in 5 minutes.
Options :

1. % 4.50 x 10*J

2. % 4.05x10°J

3.% 4501

4,9 40.5k]J

Question Number : 102 Question Id : 9277598814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faggd Sxad} foraest ufeRiY 15Q 8, # 3A URT yaTfed o34 W 5 e § Ianfed S 1 &t T S|
Options :

1. % 450 x10%]

2. % 4.05x10°J

3.% 4501

4. 40.5k])

Question Number : 103 Question Id : 9277598815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following does the resistance of a wire not depend?
Options :

1. % Length of the wire

2. % Thickness of the wire

3. ¥ Width of the wire



4. ¥ Humidity of the wire

Question Number : 103 Question Id : 9277598815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 7 3 frg R ar &1 ufeRty Rk T8 wrar g
Options :

1. % AR & dalg R

2. % JR & AIClE W

3. % IR P A8y W

4. ¢ AR & 4t

Question Number : 104 Question Id : 9277598816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shape of the electromagnet that is used in an electric-bell?
Options :

1. % Bar-shaped

2. % Cylindrical shaped

3. # Ring-shaped

4. ¥ U-shaped

Question Number : 104 Question Id : 9277598816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faggd-d<t # Ugad g ardl faggd e & 3dpid ol gidl 82
Options :

1. % IR & HHR Bl

2. % SAIDR MHR

3. % 3T & HTHR DI

4. ¥ GIAHHR




Question Number : 105 Question Id : 9277598817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding Fleming’s left-hand rule?

Options :

1. # If the first finger shows the direction of the current flow and the middle one the direction of magnetic field, then the thumb shows the
direction of force ‘F’ acting on the current carrying conductor.

2. % If the first finger shows the direction of the magnetic field and the middle one the direction of force ‘F’ acting on the current carrying
conductor, then the thumb shows the direction of current flow.

3. ¥ If the first finger shows the direction of the magnetic field and the middle one the direction of current flow, then the thumb shows the
direction of force ‘F’ acting on the current carrying conductor.

4. % If the first finger shows the direction of the current flow and the middle one the direction of force ‘F’ acting on the current carrying
conductor, then the thumb shows the direction of magnetic field.

Question Number : 105 Question Id : 9277598817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITHT & 91U BTy & | & ddy & Fofafed 3 9 & a1 9g! 82
Options :

1. % gie ygel STeH YR (1) P! Sad Hall 8l AR &g aTcl! SIeh D 1g & (B) B ddldl 81 o) ST ITdad IR @ aldl 9 F P1 Q=M
AR |
2. % Tf ugel e BT & (B) I S il 8l 3R o7 aTell SITel et IR A7 a1 96 F &1 [GRIT 1 FaTall 81 df SHIST 4RI (1)
AT

3. ¢ TS Ugal STIC DT & (B) P Tad Bl 81 3R s aTelt SIeH URT (1) BT FdTh 81 al ST Idd IR T4 dTd 9 F 1 fo=m
caippl

4. % i UG ST YR (1) DI ad Bl 81 R S Tt STeH ITedh IR T aTd §6 F b (SR B STl 81 o) 35T T g & (B)
IR

Question Number : 106 Question Id : 9277598818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a limitation of using hydroelectric power?



Options :

1. #® The hydroelectric power plants cannot be sited at a place of our choice.

2. ® Dams can be very expensive to build.

3. # There needs to be a sufficient, and continuously strong water current, or water head, to produce energy.

4. ¥ Water used for hydro power can’t be reused for other purposes/like irrigation etc.

Question Number : 106 Question Id : 9277598818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I ®F Srafdggd fad & SUANT &1 T -Te! 87

Options :

1. % Safdegd faoTell T & §AR UiE & R IR Ta! @1 ol 9hdl 5 |

2. % §iY §9M & U 9gd e 8 IS B |

3. % ol Ugl B & o Uad, SR TFIaR Holgd STdd UdTe, a1 ofdt XY &t 3Tazadhdl gl &

4.« 59 fagga & forg ST fpy oI arel it &1 31 Ie=al, oI Riars ife & forg g: SuaiT =8t fosan S a1 5|

Question Number : 107 Question Id : 9277598819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is ocean energy regarded as being more preferable over wind energy?

1. Tides are constant and predictable.
2. Fewer turbines are required in ocean energy to produce the same amount of wind power.

Choose the correct code.
Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2

4. % Neither 1 nor 2

Question Number : 107 Question Id : 9277598819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T Sl Bl UG Sl b g1 | 31 SgaR &l AT ST 82
. SR RRR 3R gEiHa g 81

2. Ua 301l & GH HTET 61 TG B b 1078 & SHoll § HH caig-l Bl aadmdl sl o
el ple |

Options :

1. % $ad 1|

2. % Had 2

3. ¥ gl 1 3R 2

4. % A1 3RAE2

Question Number : 108 Question Id : 9277598820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Hydrogen is one of the most abundant elements in the universe.

2. ® Hydrogen as a gas is not found naturally on Earth.

3. # The same amount of hydrogen will take a fuel-cell car at least twice as far as a car running on gasoline.

4. ¥ 1t costs a small amount of money to run a hydrogen vehicle.

Question Number : 108 Question Id : 9277598820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I &I 91 S 7Tad g2

Options :

1. % gIRSIoM Saie & Jad TR AR H dal # 9 U ¢

2. % EIESIoM 11 & w0 & Jedl IR Uipiae w0 J el Urs St &

3. % BIISIH B! M HHT Uh S-Id HR 6! T IR Ta- aTell BR b1 ga-T H HH F HH &l T g1 S|
4. TIZSIoM dTg- IaM & forg St It f T gict g




Question Number : 109 Question Id : 9277598821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements regarding natural gas is wrong?
Options :

1. ® Natural gas is a fossil fuel.

2. ¥ It doesn’t produce carbon dioxide while burning

3. % Itis a finite source

4. ® Methane is a common gas found in swamps and is also the byproduct of animals’ digestive system.

Question Number : 109 Question Id : 9277598821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 & Gae H Ffeied § S S 91 Sy 7Ted 82

Options :

1. % Ui 719 U SlldTRH S8 ] |

2. U S G He- STSAaTSS BT IdTe o] HRdl gl

3. % gg ue Yifa did 8

4. ® YT Tdcql § UTs S dTell T ITATT 719 8 3R U8 SFaR! & UTeH oF &1 Iuradrg ot ]

Question Number : 110 Question Id : 9277598822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The effect of the weak forces is experienced inside

1. Proton
2. Neutron

Choose the correct code
Options :

1. % Only 1

2. % Only 2



3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 110 Question Id : 9277598822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FCRENKCIRE] & e ATHA BT 5 |

1. Uled
2. g

gl ple I+
Options :

1. % $Had |

2. % Had 2

3. ¢ 1 3R 2 gl

4. % A1 3RAE2

Question Number : 111 Question Id : 9277598823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nuclear forces are and are

1. Largely attractive
2. Largely repulsive
3. Short ranged
4. Long ranged

Choose the correct code
Options :

1. ¥ Only 1 and 3

2. % Only 2 and 3

3. % Only 1 and 4

4. % Only 2 and 4



Question Number : 111 Question Id : 9277598823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORHTY & B e 8l G
1. BB 8 AP 3MHYDH

2. B! ¢ db UdBRD
3. TY- IR
4. IR

T Brs I
Options :

1. ¢ Had 1 3R 3
2. % Had 2 3R 3
3. % PHad 1 3R 4
4. % Had 2 3R 4

Question Number : 112 Question Id : 9277598824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST unit of pressure is -

Options :

1. % Nm™!

2. ¥ Nm?

3. % Nm3

4. % Nm

Question Number : 112 Question Id : 9277598824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS &1 TH. TS, HIEFD Bl 6 -



Options :
1. % Nm!
2. ¥ Nm™2
3. % Nm™
4. % Nm

Question Number : 113 Question Id : 9277598825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If pressure at one point of the liquid is increased, then

Options :

1. ¥ The pressure at all other points of the liquid will increase by the same amount
2. # The pressure at all other points of the liquid will increase by reduced amount
3. # The pressure at all other points of the liquid will remain unchanged

4. % The pressure at all other points of the liquid will not increase by the same

Question Number : 113 Question Id : 9277598825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe &d o Ueh fog IR g9 Ja1 faar 9, at -

Options :

1. ¢ % & 3= Tt farg il IR g1 Ia=it g1 /1 § a¢ Sma
2. % g9 & =g g feigail R gaTd ¥ HE H &g S|

3. % g o 3 gt forgsfi )R are sufafd e |

4. % gd & 39 g} fargail IR ard HH 91 & 781 dgm

Question Number : 114 Question Id : 9277598826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A pressure of of mercury is one atmospheric pressure.
Options :



1. # 80 cm
2. % 76 cm
3. % 70 cm
4. % 71 cm

Question Number : 114 Question Id : 9277598826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URT & 1 a9 U aTgHSd Y GaTd g |
Options :

1. % g0 4l

2.+ 76 THt

3. % 70 9HI

4. % 71 9wt

Question Number : 115 Question Id : 9277598827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true about flotation?

1. When a solid body is dipped in to a fluid, the fluid exerts an upward force of buoyancy on the solid.
2. The solid remains in equilibrium if the force of buoyancy is less than the weight of the solid.

Choose the correct code
Options :

1. % Only 1

2. % Only 2

3. ¥ Both 1 and 2

4. ® Neither 1 nor 2

Question Number : 115 Question Id : 9277598827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fffead & ¥ oI waa=iiedi & IR § I 81 82

1. 99 forlt 31 fife @1 forelt ot Uerd & GEaT ST 8, o R 319 IR SHW &1 3R I 9 a8 |
2. i I 96 31 & YR ¥ HH g, a1 319 Ida H Xgdr g |

Tl ple I+
Options :

1. % $ad 1|

2. ¥ Had 2

3. % 1 3R 2 gHl

4. % A1 3RAE 2

Question Number : 116 Question Id : 9277598828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 800 gm solid cube having an edge of length 10 cm floats in water. How much volume of the cube is outside the water? (Density of the water
1000 kg-m™.)

Options :

1. % 400 cm?

2. % 300 cm?

3. ¢ 200 cm’

4. % 100 cm’

Question Number : 116 Question Id : 9277598828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 800 U 31 G fgapt dars 10 T4 B, Uit § aRa1 8 | 94 1 fabd=1 3mad= UTHt & aTeR 82 (UT &1 °-9cd 8 1000 kg-m™3.)
Options :

1. ® 400 IE
2. % 300 A
3.« 200 A3



4. % 100 9H

Question Number : 117 Question Id : 9277598829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the work done by the force of gravity during the time a particle of mass 50 gm goes up on being thrown vertically upwards with a speed of
10 m/s.

Options :

1. % -201J
2. % -25]
3.9.25]
4. % 30]J

Question Number : 117 Question Id : 9277598829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A & SRM TSATHY §d gRT fHT 7T BT BT Udl T, Tq 50 T GHHH H1 Th BT 10 H/ASS B 1 I dddd SWR B 3R
Tl ST B |

Options :

1.% 207

2. % 5]

3.4 25]

4.% 307

Question Number : 118 Question Id : 9277598830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are conservative force/s?

1. Force of gravity
2. Coulomb force
3. Force of spring



Choose the correct code
Options :

1. % Only 1

2. % Only 1 and 3

3. % Only2and3
4.4 1,2and 3

Question Number : 118 Question Id : 9277598830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 SH-a1d WReaft 9d 8/5?

1. TE@TH YT g
2. P g
3. (B9

g D18 g
Options :

1. % $ad |

2. % PHad 1 3R 3
3. % PHad 2 3R 3
4.9 1,233

Question Number : 119 Question Id : 9277598831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An elevator weighing 400 kg is to be lifted up at a constant velocity of 0.20 m/s. What would be the minimum horsepower of the motor to be
used? (g=9.8 m/s? and there is no frictional loss)

Options :

1. * 2.0 hp

2. % 50hp

3.% 05hp



4.¥1.05hp

Question Number : 119 Question Id : 9277598831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

400 foTT YR & U forge 1 0.20 H/AL & Fd A7 9 HUR IS 8| STINT &1 o aTelt Jex B AaH gIuraR a1 g (g = 9.8 m/s?
3R PIs g1 B1H 51 )

Options :

1. % 2.0hp

2. % 5.0 hp

3. % 0.5 hp

4.9 1.05hp

Question Number : 120 Question Id : 9277598832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If'Y is the Young modulus of the solid and p its density, then the speed (v) of the longitudinal sound waves in a solid rod is -
Options :

Y
v:f
R g

Y

W=

2. ® 5
i

VY

vV=—

3 ® P
S b

\-'E



Question Number : 120 Question Id : 9277598832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE y 319 BT U7 A § 3R p 351 T B, O T 31 T8 & orgeed el o bt iy (v) B -

Options :
Y
¥ f
1LV .
Y
V==
2. % P
3 ® P
S '
\-'E
4. %
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Question Number : 121 Question Id : 9277598833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The appearance of sound to a human ear is subjectively characterized by which of the following parameters?

1. Pitch
2. Loudness
3. Quality

Choose the correct code
Options :

1. * Only 1 and 2

2. % Only I and 3

3. % Only2and3
4.4 1,2 and 3



Question Number : 121 Question Id : 9277598833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AMa S H @ &1 Iuifd fawad wu 9 Fafafed 3 9 fey IRTtex gR1 3rvya foan S g2

1. dRd
2. Ydcldl

3. T[UTaT
T BIS A

Options :

1. % Had 1 3R 2
2. % Had 1 3R 3
3. % Had2 3R 3
4.9 1,233

Question Number : 122 Question Id : 9277598834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sound waves constitute pulses travelling in the medium.
Options :

1. % Rarefaction

2. % Compression

3. % Random rarefaction and compression

4. ¥ Alternate compression and rarefaction

Question Number : 122 Question Id : 9277598834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&g T I DA dTeh JieH o g &1 Ao adt g
Options :

1. % favaH



2. % gdted
3. % 3fafig forem ik Idfteq
4. ¢ JHfs ule 3R fave

Question Number : 123 Question Id : 9277598835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the refractive index of water if the critical angle for water is 48.2°?
Options :

1. % 234

2.9 1.34

3. %034

4. % 334

Question Number : 123 Question Id : 9277598835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe ST T hifded HIT 48.2° B, A ST BT UIcih T T2
Options :

1. % 2.34

2.9 1.34

3. % 0.34

4, % 334

Question Number : 124 Question Id : 9277598836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The front portion of eye is covered by a transparent protective membrane called the -
Options :

1. # Iris

2. % Pupil



3. % Cornea
4. % Retina

Question Number : 124 Question Id : 9277598836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

311 T 31 HITT Ueh URERIT GRefTe fRieel § ool gian & o FeT o g -
Options :

1. % gRaReT

2. % gqdl

3. ¢ DI

4. % WY

Question Number : 125 Question Id : 9277598837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The retina of an eye contains millions of receptors called
1. Rods
2. Cones

Choose the correct code
Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2

4. #® Neither 1 nor 2

Question Number : 125 Question Id : 9277598837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

319 ¥ e¥iuea & arat RApd g1 § o T ST B
.95

2. R



eI D18 I
Options :

1. % $ad |

2. % Had 2

3. ¢ 1 3R 2 Gl

4. % A1 3RAE 2

Question Number : 126 Question Id : 9277598838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a ray of light passes from an optically denser medium to an optically rarer medium, we have - (if 1 = angle of incidence and r = angle of
refraction)
Options :

sini

_='1

sinr

sini
— > 1

sinr

sini

v 51nr

sini

4 % sinr

Question Number : 126 Question Id : 9277598838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIE YT ) fH0T UehTiRieh o H1eaH  UHIRIG ford Hrend # St g, ) - (A i = 3Mua HIu 3R r = 3{Udc P



Options :

sini
ol
| % sinr
sini
——= 5= 4
) % sinr
sini
e 1
3 sinr
sini
=il
4 % sinr

Question Number : 127 Question Id : 9277598839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the maximum height a ball will reach if it is thrown vertically up at a speed of 4 m/s? (Given g =10 m/s? )
Options :

1. % 04m

2.9 0.8m

3.% 0.6m

4. % 1.6m

Question Number : 127 Question Id : 9277598839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U Tig Bl 4 Hicy/Adh S Bt Tid ¥ ddad 3HUR Hep] o1dl § df a8 SHfAHdH Sals do Ugd onait (ear mar g = 10 M&2)
Options :

1. % 0.4




2. 080
3. % 060
4. % 16|

Question Number : 128 Question Id : 9277598840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is called lime or quick lime?
Options :

1. ¥ Calcium oxide

2. % Calcium Carbonate

3. # Ferrous Sulphate

4. ® Ferric Oxide

Question Number : 128 Question Id : 9277598840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforiRed & I foa 1 a1 fomT g3 91 &g ST /2
Options :

1. ¥ DR eSS

2. % HIcRIH PIEHC

3. % Uy gahe

4. % B® IAFSS

Question Number : 129 Question Id : 9277598841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following reactions are used in black and white photography?
Options :

2FeS04(s) ———— Fe,03(s) + SO,(g) + SO;(g)
| % Heat



Pb(NO5) 5(s) ————— 2PbO (s) + 4NO; (g) + 0, (g)
2. %

unlight

2AgBr(s)
3.¢¥

Sunlight 2Ag(s) + Brz(g)

CaCO4(s) ———— CaO(s)+CO, (g)
4 % Heat :

Question Number : 129 Question Id : 9277598841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i U8 ®Tsc Wikt | AafaRad o ¥ fbg ufafear o1 Iudi fasar S g2

Options :
2FeS0,(s) gy Fe,04(s) + SO,(g)+ S0;(g)

1. %

2Pb0 (s) + 4NO, (g) + 0, (g)

2AgBr(s)

v e 208(s) + Br(g)

CaC0,(s) ———— CaO(s)+CO, (g)
4. ® i _— i

Question Number : 130 Question Id : 9277598842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following reactions produce insoluble salts?
Options :

1. % Oxidation

2. % Decomposition

3. # Reduction

4. ¥ Precipitation

Question Number : 130 Question Id : 9277598842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad 7 3 oF I ufafar sifacy daur Sas Hdl 82
Options :

1. % 3Tl

2. % g

3. % DAl

4. QU

Question Number : 131 Question Id : 9277598843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fIeaH T a7 1 B, O Aeiiwrger TE © Tefdd WY, agdh- § feeTar oifdT 8, 3R SR IR U Jovdd & U B IUGNT
foraT ST B |
Options :
1. ¢ fereng
2. % flarfem
3. % fhyEge AR
4. % RSH

Question Number : 131 Question Id : 9277598843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



solution is a purple dye, which is extracted from lichen, a plant belonging to the division Thallophyta, and is commonly used as an
indicator.

Options :

1. ¥ Litmus

2. % Phenolpthalein
3. ¥ Methyl orange
4. % Jodine

Question Number : 132 Question Id : 9277598844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metal carbonate/Metal hydrogencarbonate + Acid —— Salt + + Water

Which of the following is missing in the above reaction?

Options :

1. ® Oxygen

2. ® Carbon monoxide
3. # Hydrogen

4. ¥ Carbon dioxide

Question Number : 132 Question Id : 9277598844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FIETeIe/ T ETSSISiAFIE eIe + HFT ——  TFuT + + el
IR Aot ar d e d T slamaa

Options :

1. % SfiRite

2. % HIE AFISASS
3. % gIEgloM
4. ¥ BT SIS



Question Number : 133 Question Id : 9277598845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The natural source of Oxalic acid is:
Options :

1. ® Nettle sting

2. % Lemon

3. ® Tamarind

4. ¥ Tomato

Question Number : 133 Question Id : 9277598845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ifrgrferes TRYS &1 Wi fae 9id ©:
Options :

1. % [dg3nEPh

2. % g

3. % g

4. ¢ THIR

Question Number : 134 Question Id : 9277598846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amphoteric oxides are known as:

Options :

1. ¥ Metal oxides which react with both acids as well as bases to produce salts and water
2. #® Metal oxides which do not react with bases to produce salts and water

3. # Metal oxides which react with neither acids nor bases to produce salts and water

4. ® Metal oxides which react with only acids to produce salts and water

Question Number : 134 Question Id : 9277598846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IYFYHT 3fTaaTSS B U T ST S1dT &
Options :

1. ¢ YTq TGRS Sl 3T 3R &R GIHI o W1 ol b Aqul SR I &1 §

2. % YT HTRITSS S AU 3R T ST B b o718 &RY & A1y Nfehar 781 Hd §

3. % YTq ATRIZS S 0T 3R S I b for 7 Y 31t 3R 7 &) &R & 91 foban b §
4. % YT SIS ST Had 3l & ATy fohal HXPb A0 3R T I B &

Question Number : 135 Question Id : 9277598847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most metal oxides are insoluble in water but some of these dissolve in water to form :
Options :

1. ¥ Hydrogen

2. ¥ Alkalis

3. % Acid

4. ¥ Non-metal oxides

Question Number : 135 Question Id : 9277598847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIBTR U1 SfTaTzS U H Srgaeiid gid & alfchT 316 9 o Ul H Yoo 8 o
Options :

1. % grgglor

2. ¥ &R

3. % TS

4. % IR-YT] TR

Question Number : 136 Question Id : 9277598848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following is the most reactive metal?
Options :

1. ¥ K

2. % Hg

3. % Pb

4. % Al

Question Number : 136 Question Id : 9277598848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol @ 3 oF g oifde ufafoarite urg 82
Options :

1.¥ K

2. % Hg

3. % Pb

4. % Al

Question Number : 137 Question Id : 9277598849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is most commonly formed from reaction of an acid and an alcohol?
Options :

1. % Water

2. % Salts

3. ¥ Esters

4. % Charcoal

Question Number : 137 Question Id : 9277598849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & @ o9 I1 3 3R Siehigd ! ufafshar O e 31 g1 82

Options :



1. % Tt
2. % qaul
3. ¥ TR
4. % IRDIA

Question Number : 138 Question Id : 9277598850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following salt is produced when ethanoic acid (CH3 COOH) reacts with carbonates and hydrogencarbonates?

Options :

1. ¥ Sodium acetate

2. # Potassium bicarbonate
3. % Sulphur oxide

4. # Carboxylic ester

Question Number : 138 Question Id : 9277598850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS RIS (CH; COOH) HIEHT 3R BI3SIoM BIae & A1y Ufdfshdl - W Fafafad # § ST daur 309 HRdl 62
Options :

1. ¢ Oifgay Teice

2. % UICROH SEFHEHe

3. % b RS

4. % HIETGRITCIPD TR

Question Number : 139 Question Id : 9277598851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is denatured alcohol?
Options :

1. ¥ The mixing of colour and methanol to ethanol for the purpose of industrial use



2. # It is formed when alcohol reacts with oxygen
3. % The product of ethanol reacting with concentrated sulphuric acid

4. ® The product of alcohol reacting with sodium

Question Number : 139 Question Id : 9277598851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fapd Siepigd 182

Options :

1. ¢ 3N IUTNT & I T AT | 17 3R AYATA 7 fHgon|
2. % Y dd Id1 g 99 fehigd HTator & I1 Ufafehar a1 g
3. % YT DT IUTG Hiad erIReb TRIS P 1Y UfAfeh a1 el 8
4. % QIS & 1Y U1 - ad Sfehigd Bl IdIG

Question Number : 140 Question Id : 9277598852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term atomic size refers to the of an atom.
Options :

1. ¥ Radius

2. ® Diameter

3. # Circumference

4. ® Point of tangency

Question Number : 140 Question Id : 9277598852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRYTY] 3THR Ve Th YA & oI Feid Hrar gl
Options :

1. ¢ 3=

2. % N



3. % ORfY
4. % T 1 foig
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Question Number : 141 Question Id : 9277598853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the modern periodic table, which of the following is not a metalloid or semi-metal?
Options :

1. # Boron

2. % Silicon

3. % Arsenic

4. % Sulphur

Question Number : 141 Question Id : 9277598853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY siad IRl & SR, Fufeied & & HH-31 It a1 si¢f-ord 81 82
Options :

1. % §RM

2. ® f¥ferepr

3. % D

4, ¥ Jch

Question Number : 142 Question Id : 9277598854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The atomic radius decreases in moving from along a period due to an increase in nuclear charge which tends to pull the electrons
closer to the nucleus and reduces the size of the atom.

Options :

1. % Right to left
2. % Left to right
3. % Up to down
4. ¥ Down to up

Question Number : 142 Question Id : 9277598854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fad o 3R ST TR TRATY] s Tedt § | e § ST & 96+ 9 T8 SaaeHl &l AHD 1 SR WiadT g o IRuT] &1 95




godl odl 8|
Options :

1. % I ENT
2. ¢ S Y gt
3. % SIRI AN
4. % TR IW

Question Number : 143 Question Id : 9277598855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The states of matter are inter-convertible and can be changed by changing temperature or
Options :

1. ¥ Pressure

2. % Density

3. # Mass

4. % Solubility

Question Number : 143 Question Id : 9277598855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeTe B SARITE SfeR-URadH1g gl & SR dTaH a1 H gfkad HRab 3% el o JHhdl g |
Options :

1. ¥ qld

2. % Ydd

3. % gqUHH

4. % go-=iierdr

Question Number : 144 Question Id : 9277598856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the change of solid state directly to gaseous state without going through liquid state?



Options :

1. #® Deposition
2. % Evaporation
3. ¥ Sublimation
4. ® Boiling

Question Number : 144 Question Id : 9277598856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIREd B § DI IR a7 ¥ ok 977 31 /a1 &1 A R srawi & uikadH g2
Options :

1. % f3&qur

2. % GIGIHRUT

3. ¢ SHEauTa

4. % I

Question Number : 145 Question Id : 9277598857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?

Options :

1. ¥ Latent heat of vaporisation is the heat energy required to change 1 kg of a liquid to gas at atmospheric pressure at its boiling point.
2. # Latent heat of fusion is the heat energy required to change 1 kg of a liquid to gas at atmospheric pressure at its boiling point

3. # Latent heat of vaporisation is the heat energy required to change 1 kg of a solid to gas at atmospheric pressure at its boiling point

4. % Latent heat of vaporisation is the heat energy required to change 1 kg of a solid to liquid at atmospheric pressure at its boiling point

Question Number : 145 Question Id : 9277598857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed § 9 oH @ agl 32

Options :



1. ¢ T &1 T ST 38 ST Sl ¢ ol aigHSd &1d WR | {3l 5a &l 396 SHyHid IR 1 H gea- & (AU I gidl §
2. % YOG &1 i ST I8 VAT Soll § ol agHSA &1d TR 1 {31 5a &1 3Uh S WR T | gea- & [ad 3a=ad gt o
3. % O Pt [ 30T 98 ST SHoll § off aIgHSHT e WR 1 fHUT 319 &1 3% Huie IR T & deaq & ol 31awaed gl 8
4. % G B W ST 98 ST SHoll § off IRGHST &Td TR 1 {1 319 &Y 39D HYe IR &d T g¢a- & oY STIRg® gidl §

Question Number : 146 Question Id : 9277598858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The forces of attraction between the particles are minimum in
Options :

1. ¥ Gases

2. % Solids

3. % Liquids

4. # Plasmas

Question Number : 146 Question Id : 9277598858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BN P S SATHYU 5 A AT g &
Options :

1. ¢ Tt

2. % 39

3. % TRA yard

4, % woHTSA

Question Number : 147 Question Id : 9277598859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect about alloys?
Options :

1. # They are mixtures of two or more metals



2. # They are mixtures of metal and a non-metal
3. ¥ They can be separated into their components by physical methods

4. % An alloy is considered as a mixture because it shows the properties of its constituents

Question Number : 147 Question Id : 9277598859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forsy e1q & SR H TTerd P ffed @R -

Options :

1. % 9 AT Y P urge & WYuI gl 8

2. % 3 YTq 3R 31eTd & fHeyur g

3. ¢ S9! Hifae foran gRT sfaual & gy forar off Tahdi 8

4. % ZIH] Y0 HHET SITAT § R T 39 geah! o 01 &I g21id §

Question Number : 148 Question Id : 9277598860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Clusters of atoms that act as an ion are called :
Options :

1. ¥ Polyatomic ions

2. % Monoatomic ions

3. # Diatomic ions

4. % Triatomic ions

Question Number : 148 Question Id : 9277598860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATU[SHT HT T8 ol Sl 3T &1 I8 SIIER IRl 8, 39 1 Had 82
Options :

1. ¢ JgURHAID 3T

2. % UDURHATD AT




3. % fgURH 3maH
4. % PORATG 31

Question Number : 149 Question Id : 9277598861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chemical formula of a molecular compound is determined by the of each element.
Options :

1. ¥ Valency

2. # Mass

3. % Molar mass

4. # Avogadro constant

Question Number : 149 Question Id : 9277598861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T A HIIMAS TUAS dd b gRI iR fpar Sar 31
Options :

1. ¥ GOl

2. % qHHH

3. % HITR GHHM

4. % TANTg! FRRIH

Question Number : 150 Question Id : 9277598862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atoms of carbon-12 isotopes are assigned a relative atomic mass of
with the mass of a carbon-12 atom.

and the relative masses of all other atoms are obtained by comparison

Options :
1. %6
2. % 8
3.9 12



4. % 16

Question Number : 150 Question Id : 9277598862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIE-12 TARTHD! o TRATIST BT Udh ATU&] URATY] STHH fAfEy fora ST 8 | s ot acal o RIS 1 Tt SeHH
BT -12 TRHTY] & STHH P 1Y AT HRob Ul Il g |

Options :

1. % 6

2. % 8

3.9 12

4. % 16

Question Number : 151 Question Id : 9277598863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Avogadro constant is :

Options :

1. % 6.22x10%

2. v 6.022 x 105

3. % 3.022 x10%3

4. % 6,022 x 103

Question Number : 151 Question Id : 9277598863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % 622 x10%

2. ¥ 6.022 x 102

3. % 3.022 x10%3



4. % 6022 x 1034

Question Number : 152 Question Id : 9277598864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the mass of the following:
0.7 mole of N, gas (mass from mole of molecule)

Options :
1. % 14¢
2. % 156¢
3.9 196 ¢
4. % 7¢

Question Number : 152 Question Id : 9277598864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafed & Somm &1 oM B

N, T &1 0.7 A (3] & AT GHHM)
Options :

1.* l4¢

2.% 156¢

3.9 196 ¢

4. % 7¢

Question Number : 153 Question Id : 9277598865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mark the correct statement.

Options :

1. % Polymer does not occur in nature

2. % Cotton is a polymer

3. % Cellulose is made up of a large number of hydrogen units



4. % Polymer word comes from 2 latin words

Question Number : 153 Question Id : 9277598865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HUA B fafgd B

Options :

1. % UIMR (Sgieh) Uepfal & 81 g1 &

2. ¥ HUN TP Sg0D §

3. % YogalSl S W1 H R ghlsdl ¥ -1 gl g |
4. % TR g 2 e Tsal AT 8

Question Number : 154 Question Id : 9277598866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first fully synthetic fibre?
Options :

1. # Rayon

2. % Cotton

3. % Wool

4. ¥ Nylon

Question Number : 154 Question Id : 9277598866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad o  ugar gul Sxaftd 3= & a1 o
Options :

1. % M

2. % HUY

3. % 3

4.« G



Question Number : 155 Question Id : 9277598867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Polycot is a mixture of:

Options :

1. ¥ Polyester and Cotton

2. # Polyester and wool

3. ® Polyester and nylon

4. ® Polyester and silk

Question Number : 155 Question Id : 9277598867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oiciipie ford o fHrsor g2

Options :

1. ¢ TIfeTueR 3R HUMY

2. % TifReR 3R S

3. ® TiforeeR 3R A

4. % TIfTgEex 3R W

Question Number : 156 Question Id : 9277598868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct about chronic disease?

Options :

1. #® Diseases last for very short period of time are chronic disease

2. ® Chronic diseases are always communicable.

3. ¥ Ailments that lasts for lifetime or a long time are known as chronic disease

4. ® Common cold is an example of chronic disease

Question Number : 156 Question Id : 9277598868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad sy | 3 ddeifers I & IR H I8t HyF 3l fafed Y

Options :

1. % Sgd oY GHY dcb Tei- aTel A7 eipieres TN 8

2. % Afeprferes SR gaw I g1 8

3. ¢ Sfigd WR U7 e THY deh Ig+ aTel SHTRA) & Erefepiferes 9T & U H ST ST 8
4. % Y e dapiferss 9T 61 Uk 30T §

Question Number : 157 Question Id : 9277598869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of infectious disease?
1. Diabetes
2. High blood pressure

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 157 Question Id : 9277598869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed & & S HhTHd I HI IaTex 82
1. AYAE

2. 3= Xaddly
Options :

1. % %Had |

2. % $Had 2

3. % 1 3R 2aM

4. FA1RAE 2



Question Number : 158 Question Id : 9277598870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Leishmania is a:

Options :

1. # Bacteria

2. ¥ Protozoa

3. % Virus

4. # Fungi

Question Number : 158 Question Id : 9277598870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eﬂmﬁﬁm Uh %z

Options :

1. % SEIRA

2.« YIS

3. % dIIY

4, % HdDh

Question Number : 159 Question Id : 9277598871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the symptom of a disease if the targeted organ is lungs?
Options :

1. ¥ Cough and breathlessness

2. # Jaundice

3. # Headaches only

4. # Fits or unconsciousness only

Question Number : 159 Question Id : 9277598871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gfe dférd 3T s 81 al AT 1 T&0T T I
Options :

1. ¢ G 3R A BT

2. % difera

3. % PHad RRee

4. % PHaq fonff a1 sgRh

Question Number : 160 Question Id : 9277598872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the functions of thyroxine?
1. Regulates carbohydrates metabolism in the body
2. Regulates proteins and fat metabolism in the body

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 160 Question Id : 9277598872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRR & BT 152

1. IR A FrefeRsc IUTTd &I Ffd Har g

2. YRR T UIEH SR 31 & IUTU= &l A war g

Options :

1. % $Had |

2. % $Had 2

3. ¢ 1 3R 2 gl

4. % A1 3RAE 2
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Question Number : 161 Question Id : 9277598873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following endocrine glands are present in human body?

1. Pineal gland



2. Thyroid gland
3. Thymus
4. Pancreas

Options :

1. # Only 2 and 3
2. % Only 3 and 4
3. % Only 1 and 3
4.+ 1,2,3and 4

Question Number : 161 Question Id : 9277598873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered & I DI sid-ard) 3y ara & SuRIG 8Idi 8 2

1. fafFera Uiy

2. 3{dg Uy

3. YAy Y

4. 3R
Options :

1. % PHad2 3R 3
2. % Had 3 3R 4
3. % Had 1 3R 3

4.91,2,3 3R 4

Question Number : 162 Question Id : 9277598874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Touch-me-not is a plant of family.
Options :

1. ¥ Mimosa

2. # Liliaceae

3. # Malvaceae



4. % Cruciferae

Question Number : 162 Question Id : 9277598874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cg-HtAle URAR &7 UieT g
Options :

1.« T

2. % ferferarat

3. % HIeTadl

4. % PR

Question Number : 163 Question Id : 9277598875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the peripheral nervous system comprises the whole complex of nerves, fibres, ganglia, and plexuses?
Options :

1. ¥ Visceral nervous system

2. % Sympathetic neural system

3. #% Parasympathetic neural system

4. % Central neural system

Question Number : 163 Question Id : 9277598875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AT do 1 U YT | 39 Sl o 9t dieTd, et dq, TeeTd Ud SiiidTe JieTierd o
Options :

1. ¢ 3{id &I AT dF

2. % 3IHI! diNhT T

3. % RS dABT oA

4. % B diAD d




Question Number : 164 Question Id : 9277598876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the function of synapses?

Options :

1. ¥ It’s a junction from which nerve impulse is transmitted from one neuron to another
2. ® It’s a juice which aids liver to digest protein

3. # It’s a hormone that regulates anxiety

4. ® It’s a part of kidney which helps to remove toxic bacteria from the body

Question Number : 164 Question Id : 9277598876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R &1 R’ o1 82

Options :

1. ¢ P GRT AT AT DT Th R Y AR XM A a0l gl §

2. % g TP o g Sl difaR ®I UIeH UaH H Heg ol §

3. % g U g § S ffa &t Fafd s g

4. % g fhe- &1 U 3R & S TRR T TERIa o 11 ! FepTa § Hag HRdl §

Question Number : 165 Question Id : 9277598877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not contained by forebrain?
Options :

1. # Cerebrum

2. ¥ Medulla

3. % Thalamus

4. ¥ Hypothalamus

Question Number : 165 Question Id : 9277598877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 H&TSes § T TeT g 8
Options :

1. % |

2. ¢ BgaT ()

3. % JqHg

4. % IOl 4aHg

Question Number : 166 Question Id : 9277598878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In aquatic plants, large air cavities are present in parenchyma to give buoyancy to the plants to help them float. Such a parenchyma type is called

Options :

1. # Windochyma
2. # Oxychyma
3. % Aerenchyma

4. # Floatachyma

Question Number : 166 Question Id : 9277598878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Uil § TReBIgHT &1 DITRABI37 & T g1 B dat TDIE Il g, O UIeh Pl - & [TE S 9 UaH dxdle | 39 UHR &
WHRATDH FHed el

Options :

1. % fdSioprm

2. % SRITBIHT

3. v W1l

4. % GelCHIgHI



Question Number : 167 Question Id : 9277598879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which plant tissue has the thinnest walls?
Options :

1. # Collenchyma

2. % Parenchyma

3. # Sclerenchyma

4, % Meristematic

Question Number : 167 Question Id : 9277598879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b U1 b Srcieb b freet! Fa Uerel! GBIl 6
Options :

1. % BIDbISH

2. ¢ YDA

3. % TRITDISH

4. % ARACH

Question Number : 168 Question Id : 9277598880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following belongs to genus Felis?
Options :

1. # Leopard

2. ¥ Cat

3. ® Tiger

4. % Lion

Question Number : 168 Question Id : 9277598880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
PR & & A i dU B9
Options :

1. % il

2. ¢ forerit

3. % dlY

4. % TR

Question Number : 169 Question Id : 9277598881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below Taxonomic categories showing hierarchial arrangement in ascending order.

Species — Genus — Class — Order

Which of the following is incorrectly placed in the arrangement?
Options :

1. * Species

2. % Genus

3. ¥ (Class

4. * Order

Question Number : 169 Question Id : 9277598881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RS % H vergspH afife Jaif e fea g
fofefad & 3 f5a g & 7Ted Rid T W1 T 82

Options :
1. % Sfd
2. % 9y




3.« g1
4. % TO7

Question Number : 170 Question Id : 9277598882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
belongs to Poaceae family and Monocotyledonae class.
Options :
1. ¥ Wheat
2. * Mango
3. % Peas

4. % QOranges

Question Number : 170 Question Id : 9277598882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O $d ¥ SR AFeIcias aif ¥ iefid §
Options :
1. ¥ Tig
2. % 3H
3. % HXY
4. % R

Question Number : 171 Question Id : 9277598883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many phases of growth are there in the Sigmoid Growth Curve of a plant or plant-part?
Options :

1. %2

2.¥3

3.% 4



4. %5

Question Number : 171 Question Id : 9277598883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 1 Y S YT & RerTgs i I A g Bt fpat srawmd St 82
Options :

1. %2

2.¥3

3.% 4

4. % 5

Question Number : 172 Question Id : 9277598884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a small blind pouch at the junction of small and large intestine?
Options :

1. ¥ Caecum

2. * Duodenum

3. % Jejunum

4. # Jleum

Question Number : 172 Question Id : 9277598884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § ST 1Kt siid 3R 931 3iid & T VT W fRUT T BIel-IT 3i¢-HIF 82
Options :

1. ¢ YT (AT H)

2. ® Yguil

3. % 3FEGId

4. % &grd



Question Number : 173 Question Id : 9277598885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Digestion functions are taken care of by the gastric glands present in the wall of the stomach. These release hydrochloric acid, a protein digesting
enzyme called pepsin, and mucus. What is the function of mucus?

Options :

1. ¢ It protects the inner lining of the stomach from the action of the acid under normal conditions
2. % [t creates an acidic medium which facilitates the action of the enzyme pepsin

3. % It aids the liver in extracting juices from it

4. ® Tt increases the size of stomach while digesting food

Question Number : 173 Question Id : 9277598885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qraH S STHRE $i R & SufRUd J6x T & gRIVUA 8Id ¢ | 3 SIS SN 33, Udh Wi UTadh YolTgH ORI T ST &1
10T B & | TeSHT &1 1 BT g2

Options :

1. ¢ T8 3MTHI & 3R AR B 3 F I8/ Rl g |

2. % U TP 3N HIeOH dUR HRdT 8 S UfeH TomsHS! fobdl H Ugaed gidi g |
3. % Ug TR &) 399 T FAopTem & Heg a1 g

4. % g Yo B U= I Ue & PR B! dIdl &

Question Number : 174 Question Id : 9277598886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the incorrect statement regarding Dental caries.

Options :

1. # Dental caries or tooth decay causes gradual softening of enamel and dentine

2. % It begins when bacteria acting on sugars produce acids that softens or demineralises the enamel
3. # Masses of bacterial cells together with food particles stick to the teeth to form dental plaque

4. ¥ 1n this saliva reach the tooth surface and neutralise the acid



Question Number : 174 Question Id : 9277598886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SeRUl ¥ qHIYd TTad HU &l afed & -

Options :

1. # IR T SAT ST dUT SEF & X:-X[: FGHIU & HRUI ST g |

2. % TPHTYRY BIdT & SToNary] AT TR ol HRep 3d §41d & | IUH 347d Hg I1 faafoiigpd 8l SIal §
3. % 3B SAIGTUDIRIepT Wb U &b J1Y e aidl IR fues o dqwie s ad &

4.« U AR i $1 Idg dP UG ¢ 3R TRTS P J3RR FR Gl §

Question Number : 175 Question Id : 9277598887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Glucose in cytoplasm break into pyruvate, then pyruvate in absence of oxygen is converted into

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. Lactic acid and Energy

2. Lactic acid and water

3. Ethanol , Carbon dioxide and Energy
4. Carbon dioxide, water and Energy

Question Number : 175 Question Id : 9277598887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI HIRIDT 567 | UISdc H ¢ ol &, {hR Irawde SiqiioH & srufeufa # A ufkafda gl g |
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.




Options :

1. dfdes Thrs 3R SHuf

2. dfdess s 3R ur

3. ST, PTa SISIHRITSS 3R FHoll
4. PIe SRS S, T 3R SHolf

Question Number : 176 Question Id : 9277598888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT true?

1. The Ozone Hole is located over the equator of the earth.
2. 2019 Ozone Hole is the smallest on record since its discovery in 1982 for the first time.

Choose the correct code.
Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2

4. % Neither 1 nor 2

Question Number : 176 Question Id : 9277598888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Syl & 3 S e g I8 82

1. 3o g gedt & e T & SR RUT B
2.2019 3o g 1982 A Ugeh IR Tl 91 & a1 A Reple R a4 Bler g |

el % g |
Options :

1.« &Had |
2. % Had 2



3. % gHl 18R 2
4. % Fd11 3R 2

Question Number : 177 Question Id : 9277598889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following is an ecosystem of water-body, showing the concentration of DDT in each trophic-levels.

Water — Algae — Fish — Pelican bird
1700 ppm — 500-600 ppm — 77 ppm — 0.2 ppm

Which of the following feature is incorrect if the above is to represent biomagnification?
Options :

1. # Algae should not be present. It should be bacteria instead

2. % Fishes don’t eat algae. Instead of fish it should be bacteria and then fish

3. ¥ The concentration of DDT should increase as we go to higher trophic-levels

4. % There are no incorrect features in the above representation

Question Number : 177 Question Id : 9277598889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafad sa-Fem o1 e TR 8, S ide Uil-wri & SiSict & gigdl &l eidr g1
S — Va1 — AT — Uferep ffsan

1700 ppm — 500-600 ppm — 77 ppm — 0.2 ppm
ﬁaﬁ@aﬁﬁﬁq@ﬁﬁww%aﬁm@amﬁqmmm%’?
Options :

1. % qTd HIG[G a! g d1eT | SHD! S8 SIaTY] (Saeixa) 8IH1 a1 |

2. % TRl RaTel gt el | Bl &1 SHIg SiaTg] (Sae i) 3R fhr Al -1 afeu|
3. ¢ SISIt &I Figdl dg-t ANieT Hifeh 87 I UYI-TRI IR 91d & |

4. % IR UfAHTIG H HIg Tord A= Ta1 §

Question Number : 178 Question Id : 9277598890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A mixture of oxygen and is used as anesthesia in surgical operations.

Options :

1. # Sulphurous oxide

2. % Hydrogen monoxide
3. ¥ Nitrous oxide

4. ¥ Hydrogen

Question Number : 178 Question Id : 9277598890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STRIOH 3R & fyor ) 31 fobar & F9as & © 0 § TN fear S g |
Options :

1. % TRy HdTEe

2. % gISSIoH HHISTRIES

3. ¢ ATSCY JRIES

4. % grESloH

Question Number : 179 Question Id : 9277598891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following do not need oxygen?
Options :

1. # Aerobic metabolism

2. % Combustion

3. ¥ Nitrogen fixation

4. % Plants’ respiration

Question Number : 179 Question Id : 9277598891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiRad & 3 5 sifiie @) srazgedr 781 i 22
Options :

1. % Wifdd Ia9<™

2. % qgd

3. ¢ AIECIoH RRIDHIT

4. % Wi BT 4T

Question Number : 180 Question Id : 9277598892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following crops is a major source of carbohydrates for energy requirement?
Options :

1. # Vegetables

2. # Soyabean

3. % Rice

4. % Spices

Question Number : 180 Question Id : 9277598892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl B HTaH T & fore Faffad 3 3 &F i Bud SR ee &1 U6 THE JId 82
Options :

1. % gleoai

2. % HTeiA

3. ddd

4. % O
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Question Number : 181 Question Id : 9277598893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a micronutrient for plants?

Options :

1. # Magnesium
2. % Iron

3. #* Nitrogen

4. # Phosphorus
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Question Number : 181 Question Id : 9277598893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed # 9 3= Wl & foe gar divs 82
Options :

1. % TR

2. ¥/ WGl

3. % ATgcIoA

4. % BIEHRY

Question Number : 182 Question Id : 9277598894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should be a parameter for inter-cropping practices?
Options :

1. ¥ Their nutrient requirements should be different

2. ® Their species should be similar

3. # Their maturity-duration should be different

4. ® They should grow in different climates

Question Number : 182 Question Id : 9277598894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R vrft & o Fafafea # @ o w1 iRifter 8141 wnfgw
Options :

1. ¢ 3] UINS dcdl DI HTaRIDH AT -3 g1 ATy |

2. % ID! Yol 9 8- =TT

3. % Jop! URUH -3 SIe1-3fe gl dlfgUl

4. % I3 fAfid Serarg ¥ e A1

Question Number : 183 Question Id : 9277598895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of indigenous variety of poultry?
1. Aseel

2. Leghorn

Choose the correct code.

Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 183 Question Id : 9277598895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 SH-91 Hape & Wl [ &1 IR0 82

Options :

1. ¢ $Had |

2. % $Had 2

3. % gl 1 3R 2

4. % A1 3RAE2

Question Number : 184 Question Id : 9277598896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fishes feed on the weeds?
Options :

1. % Catlas

2. % Rohus

3. ¥ Mrigals



4. ¥ Grass Carps

Question Number : 184 Question Id : 9277598896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad § 9 o1 O T TR-UdaR TR HieH Sd! 82
Options :

1. # dcdl

2. % g

3. % HId

4.« JE DY

Question Number : 185 Question Id : 9277598897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can NOT be used as a plant growth regulator?
Options :

1. # Auxin

2. % Gibberllins

3. ¥ Peroxyacetyl nitrate

4. % Cytokinin

Question Number : 185 Question Id : 9277598897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed o 3 foget IudT urey gfs e & = u o T8t fvar o davar g2

Options :

v RIFNeEd A3ce
.

%



Question Number : 186 Question Id : 9277598898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many macro-nutrients are essential for plants?
Options :

1. % 4

2.%5

3.6

4. % 17

Question Number : 186 Question Id : 9277598898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qi & foTE ford ged-UIve dcd STaxad &2
Options :

1. % 4

2.% 5

3.6

4. %7

Question Number : 187 Question Id : 9277598899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Green Revolution began in India in -
Options :

1. # 1957

2. % 1968

3. #1975

4. % 1982

Question Number : 187 Question Id : 9277598899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HRd # gRd wifd &1 Y31 &3 -
Options :

1. % 19579

2. ¢ 1968 F

3. % 19759

4. % 19829

Question Number : 188 Question Id : 9277598900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the lowest intensity of sound that a human ear can hear?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.10dB

2.1dB

3.5dB

4.15dB

Question Number : 188 Question Id : 9277598900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g &1 gATH Il o1 & Sl Ueb 4 BT Y el 62

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1.10dB




2.1dB
3.5dB
4.15dB

Question Number : 189 Question Id : 9277598901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Apis mellifera is bee that has been brought to India from
Options :

1. * Russia

2. ¥ ltaly

3. * France

4. % UK

Question Number : 189 Question Id : 9277598901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT U AyHas g o yRd o J ARG
Options :

1. % 9

2. ¢ gl

3. % B

4. % g

Question Number : 190 Question Id : 9277598902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we start heating water from 0°C, then till what temperature does it contract?
Options :
1. #® 2°C
2. % 3°C



3. ¥ 4°C
4. % 5°C

Question Number : 190 Question Id : 9277598902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g g9 U D1 0°C T TH AT & B &, <l I8 [ aiaHH ab R adl 82

Options :
1. % 2°C
2. % 3°C
3. ¥ 4°C
4. % 5°C
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Number of Questions : 10
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277598903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following academic sessions was the system of alternate courses was discontinued?
Options :

1. % 1972-73

2. % 1975-76

3. ¥ 1984-85

4. % 1989-90

Question Number : 191 Question Id : 9277598903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 fora Qeifdre T § dbicis UTeamHl & IaRIT ¢ R of T8 A
Options :

1. ® 1972-73

2. % 1975-76

3. ¥ 1984-85

4. * 1989-90

Question Number : 192 Question Id : 9277598904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should be the criteria for selection of resources for teaching?
1. Usefulness



2. Clarity

3. Simplicity

Use the correct code.
Options :

1. % Only I and 2
2. % Only2and 3

3. % Only 1 and 3

4.4 1,2 and 3

Question Number : 192 Question Id : 9277598904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofefad & 9 o a1 Riern & forg danei & = & it Ards g1 9w
1. SR

2. 9qydr
3. greft
el HIs BT YA B |

Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233

Question Number : 193 Question Id : 9277598905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Right to Education Act, 2009 provides for the duties of teachers and redressal of grievances?
Options :

1. * 18

2. %20

3. %22

4.9 24



Question Number : 193 Question Id : 9277598905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1 SIIBR SHTAFTH, 2000 B FAfARIT H I B T 4RT gl & Beioal 3R Risbrardl & MaRU 1 graem Het 82
Options :

1. % 18

2. %20

3. % 22

4. 24

Question Number : 194 Question Id : 9277598906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is not one of the chief exponents of the trait theory of personality?
Options :

1. # G.W. Allport

2. % R.B. Cattell

3. % R. K. Pritchett

4. % H.J. Eysenck

Question Number : 194 Question Id : 9277598906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafiea 3 3 oF afdda & o Rigid & 7@ ufdues! 3 9§ Te T8 o
Options :

1. ® ST, S&, SMTAUIC

2. % 3R & Bcd

3. ¥ 3R. &b fle

4. ® TS, 33D




Question Number : 195 Question Id : 9277598907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following doesn't belong to the Projective Techniques of methods of assessing personality?
Options :

1. # Children Apperception Test

2. % BG Test

3. # Graphology

4. ¥ Aptitude Test

Question Number : 195 Question Id : 9277598907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ o1 afdda Jeaie & aiid! ot uadt de-ite 3 I&fid Tl 82
Options :

1. % fIegH TRAwH ¢

2. % d Gl ¢

3. % GXICID B T

4. Jffed ulan

Question Number : 196 Question Id : 9277598908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following age range is known as early childhood?
Options :

1. # 1-6 years

2. ¥ 2-6 years

3. % 3-7 years

4. % 4-8 years

Question Number : 196 Question Id : 9277598908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad o 9 frg Sy RN &1 IR Seara®il & 0 § ST Sl 82
Options :

1. % 1-6 91d

2.v 2.6 9d

3. % 3.79d

4. % 4.8 91A

Question Number : 197 Question Id : 9277598909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Right to Education Act, 2009 provides for the monitoring of child's right to education?
Options :

1. ¥ 31

2. % 32

3.% 33

4. % 34

Question Number : 197 Question Id : 9277598909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &1 SHfIBR RIFTH, 2009 BT FEfARET § 3 BH H URT I & e & ABR Bt IR BT U™ It 82
Options :

1. ¥ 31

2. % 32

3. % 33

4. % 34

Question Number : 198 Question Id : 9277598910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following can be one of the sources and forms of gender discrimination?



1. Textbooks
2. Laws and rules
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. # Neither 1 nor 2

Question Number : 198 Question Id : 9277598910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froafefed & & & fofr Hevma & Hidt iR 01 7 3§ T 81 9oba1 82
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Options :

1. % $Had |

2. % Had 2

3.9 1 3R23AT &
4. % AT 1ATSI2

Question Number : 199 Question Id : 9277598911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following teaching methods assumes that the whole group can give more ideas than a person?

Options :

1. ¥ Brain Storming

2. # Home assignment method
3. # Discovery method

4. # Project method



Question Number : 199 Question Id : 9277598911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofaRad o 9 HH 0 Rieor ugfa g A § o 1 g Ue afda @ oifies faar < Iwar a2

Options :

1. ¢ S-S

2. % B 3fATSTHC fafy
3. % @il fafy

4. % GRS fafy

Question Number : 200 Question Id : 9277598912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of a teacher?
1. Evaluating the achievement of pupils.

2. Preparation of progress-reports.

Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 200 Question Id : 9277598912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # @ o e e &1 wrf 81 82
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Options :



1. % PHad 1
2. % PHad 2
3. % 1 3R 2GAT
4. A 1782



